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1. Which is the correct descending order
among the four highest awards
instituted by the Government of India?

a) Bharat Ratna, Padma Bhushan,
Padma Vibhushan and Padma
Shri

b) Bharat Ratna, Padma Vibhushan,
Padma Bhushan and Padma Shri

c) Padma Shri, Padma Bhushan,
Padma Vibhushan and Bharat
Ratna

d) Bharat Ratna, Padma Shri, Padma
Bhushan and Padma Vibhushan

2. Who among the following is the
Chairman of the 15th Finance
Commission?

a) C Rangrajan b) Vijay Kelker

c) N K Singh d) Y V Reddy

3. The idea of Constituent Assembly for
India was put forward for the  first
time by

a) M. N. Roy

b) Indian National Congress

c) Mahatma Gandhi

d) Jawaharlal Nehru

4. Consider the following statement
about budget which is presented every
year in the Parliament by the central
government

I. Its introduction in Parliament
requires prior recommendation
of President.

II. Budget speech in Parliament is
given by the Prime Minister

          Select the incorrect code:

a) Only I b) Only II

c) I & II d) None

5. The system of introduction of Dyarchy
is associated with which of the
following Acts?
a) Charter Act 1853
b) Morely-Minto Act 1909
c) Government of India Act 1919
d) Government of India Act 1935

6. Trickle-down theory is related to which
of the following field?
a) Economic development
b) Scientific advancement
c) Foreign policy
d) Information and communication

technology
7. Judge of a High Court is removed by

a) Parliament
b) President
c) Prime Minister
d) Governor

8. Which of the following is not a
constitutional body?
a) Election Commission
b) CAG
c) National Commission for

Schedule Caste
d) National Commission for Women

9. All India Services are created by
a) The Act of Parliament
b) By a resolution of Rajya Sabha
c) By the order of the government
d) None of the above

10. Who is the Chief Economic Advisor to
the Government of India?
a) Aravind Subramaniam
b) Subramaniam Swamy
c) Aravind Panagaria
d) Raghuram Rajan



3

LUKMAAN’S  400 DREAMS TEST

CSE 2019

1 -1 -1 -1 -1 - Hkkjr ljdkj }kjk LFkkfir pkj mPpre
iqjLdkjksa dk dkSu lgh vojksgh Øe gS\

d½ Hkkjr jRu] in~e Hkw"k.k] in~e foHkw"k.k
vkSj in~eJh

[k½ Hkkjr jRu] in~e foHkw"k.k] in~e Hkw"k.k
vkSj in~eJh

x½ in~eJh] in~e Hkw"k.k] in~e foHkw"k.k vkSj
Hkkjr jRu

?k½ Hkkjr jRu] in~eJh] in~e Hkw"k.k vkSj in~e
foHkw"k.k

2 -2 -2 -2 -2 - fuEufyf[kr esa ls dkSu 15 osa foÙk vk;ksx ds
v/;{k gSa\

d½ lh jaxjktu

[k½ fot; dsydj

x½ ,u ds flag

?k½ okbZ oh jsìh

3 -3 -3 -3 -3 - Hkkjr dh lafo/kku lHkk dk fopkj igyh ckj
lkeus j[kk Fkk%

d½ ,e ,u j‚;

[k½ Hkkjrh; jk"Vªh; dkaxzsl

x½ egkRek xka/kh

?k½ tokgjyky usg:

4 -4 -4 -4 -4 - gj lky laln esa dsaæ ljdkj }kjk çLrqr fd,
tkus okys ctV ds lEcU/k esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- laln esa bls is'k djus ds fy, jk"Vªifr
dh iwoZ flQkfj'k dh vko';drk gksrh
gSA

2- laln esa ctV Hkk"k.k ç/kku ea=h }kjk
fn;k tkrk gSA

xyr dwV dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

5 -5 -5 -5 -5 - fuEufyf[kr fdl vf/kfu;e ds rgr }S/k
O;oLFkk dh 'kq:vkr gqbZ\

d½ pkVZj vf/kfu;e 1853

[k½ ekWysZ&feaVks vf/kfu;e 1909

x½ Hkkjr ljdkj vf/kfu;e 1919

?k½ Hkkjr ljdkj vf/kfu;e 1935

6 -6 -6 -6 -6 - fVªdy Mkmu fl)kar fuEufyf[kr esa ls fdl
{ks= ls lacaf/kr gS\

d½ vkfFkZd fodkl

[k½ oSKkfud mUufr

x½ fons'k uhfr

?k½ lwpuk vkSj lapkj çkS|ksfxdh

7 -7 -7 -7 -7 - mPp U;k;ky; ds U;k;k/kh'k dks gVk;k tk
ldrk gS

d½ laln }kjk [k½ jk"Vªifr }kjk

x½ ç/kku ea=h }kjk ?k½ jkT;iky }kjk

8 -8 -8 -8 -8 - fuEufyf[kr esa ls dkSu laoS/kkfud fudk; ugha
gS\

d½ pquko vk;ksx

[k½ CAG

x½ vuqlwfpr tkfr ds fy, jk"Vªh; vk;ksx

?k½ efgykvksa ds fy, jk"Vªh; vk;ksx

9- 9- 9- 9- 9- vf[ky Hkkjrh; lsok,a fdlds }kjk cukbZ xbZ\

d½ laln ds vf/kfu;e }kjk

[k½ jkT;lHkk ds çLrko }kjk

x½ ljdkj ds vkns'k }kjk

?k½ mi;qZä esa ls dksbZ ugha

10-10-10-10-10- Hkkjr ljdkj ds eq[; vkfFkZd lykgdkj dkSu
gSa\

d½ vjfoan lqcze.;e

[k½ lqcze.;e Lokeh

x½ vjfoan iuxf.k;k

?k½ j?kqjke jktu
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11. Which country has recently endowed
its president with the power to rule for
life?
a) Turkey b) China

c) Russia d) Iran

12. Salary of the Prime minister is
determined by

a) The Cabinet

b) The Council of Minister

c) The President

d) The Parliament

13. Which of the following is not a
parameter of the Human Development
Index published by the UNDP?

a) Education

b) Health

c) Per Capita Income

d) GDP

14. Who is presently National Security
Advisor to the government of India?

a) Prakash Singh

b) Nripendra Mishra

c) Ajit 1Doval

d) Rajiv Asthana

15. Minority status to any community or
religion is given by

a) By an act of Parliament

b) By amending the Constitution of
India

c) By order of the President

d) By a notification of the central
government

16. The World Development Report is
published by

a) The World Bank

b) The World Economic Forum

c) The United Nations

d) The UNCTAD

17. Which of the following is not a function
the RBI?

a) Managing exchange rate
b) Determining Inflation Rate
c) Regulating Schedule Commercial

Banks
d) Regulating liquidity in the market

18. Joint-sitting of Parliament cannot be
held for which of the following Bills?
I. Constitutional Amendment Bills
II. Money Bills

          Select the correct code:
a)  Only I b) Only II
c) I & II d) None

19. The Constitution of India was adopted
on
a) 26 November 1949
b) 15 August 1949
c) 26 January 1950
d) 15 August 1950

20. The Basel accords such as Basel-I, II &
III are related to which of the following
fields?
a) Regulation of banking sector
b) FDI
c) Ecology and environment
d) Defence sector

21. In India, who among the following can
only be removed from the office in like
manner and on the like grounds as a
judge of the Supreme Court?
1. Comptroller and Auditor-General

of India.
2. Chief Election Commissioner
3. Chairman, Union Public Service

Commission
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11-11-11-11-11- fdl ns'k us gky gh esa vius jk"Vªifr dks
vkthou 'kklu djus dh 'kfä çnku dh\

d½ rqdhZ [k½ phu

x½ :l ?k½ bZjku

12-12-12-12-12- ç/kkuea=h dk osru fu/kkZfjr fd;k tkrk gS%

d½ dSfcusV }kjk

[k½ ea=h ifj"kn }kjk

x½ jk"Vªifr }kjk

?k½ laln }kjk

13-13-13-13-13- la;qä jk"Vª fodkl dk;ZØe }kjk çdkf'kr
ekuo fodkl lwpdkad dk fuEufyf[kr esa ls
dkSu ekun.M ugha gS\

d½ f'k{kk

[k½ LokLF;

x½ çfr O;fä vk;

?k½ ldy ?kjsyw mRikn

14-14-14-14-14- orZeku esa Hkkjr ljdkj ds jk"Vªh; lqj{kk
lykgdkj dkSu gSa\

d½ çdk'k flag

[k½ u`isUæ feJk

x½ vthr MksHkky

?k½ jktho vLFkkuk

15-15-15-15-15- fdlh Hkh leqnk; ;k /keZ dks vYila[;d fLFkfr
nh tkrh gS%

d½ laln ds vf/kfu;e }kjk

[k½ Hkkjr ds lafo/kku esa la'kks/ku djds

x½ jk"Vªifr ds vkns'k ls

?k½ dsaæ ljdkj dh vf/klwpuk }kjk

16-16-16-16-16- fo'o fodkl fjiksVZ çdkf'kr gksrh gS%

d½ fo'o cSad }kjk

[k½ fo'o vkfFkZd eap }kjk

x½ la;qä jk"Vª }kjk

?k½ vadVkM ¼UNCTAD½ }kjk

17-17-17-17-17- fuEufyf[kr esa ls dkSu lk Hkkjrh; fjtoZ cSad
dk dk;Z ugha gS\

d½ fofue; nj dk çca/ku

[k½ eqækLQhfr nj fu/kkZfjr djuk

x½ vuqlwfpr okf.kfT;d cSadksa dks fofu;fer
djuk

?k½ cktkj esa udnh dks fofu;fer djuk

18-18-18-18-18- fuEufyf[kr fo/ks;dksa esa ls fdl ds fy, laln
dh la;qä cSBd ugha dh tk ldrh gS\

1-  lafo/kku la'kks/ku fo/ks;d

2-  /ku fo/ks;d

lgh dwV dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

19-19-19-19-19- Hkkjr dk lafo/kku viuk;k x;k Fkk%

d½ 26 uoacj 1949

[k½ 15 vxLr 1949

x½ 26 tuojh 1950

?k½ 15 vxLr 1950

20-20-20-20-20- cklsy&I, II vkSj III tSls cklsy le>kSrs
fuEufyf[kr esa ls fdl {ks= ls lacaf/kr gSa\

d½ cSafdax {ks= ds fofu;eu ls

[k½ çR;{k fons'kh fuos'k

x½ ikfjfLFkfrdh vkSj i;kZoj.k

?k½ j{kk {ks=

21-21-21-21-21- Hkkjr esa fuEufyf[kr esa ls dkSu dsoy mPpre
U;k;ky; ds U;k;k/kh'k ds rjhds vkSj blh
rjg ds vk/kkj ij dk;kZy; ls gVk;k tk
ldrk gS\

1-  Hkkjr dk fu;a=d vkSj egkys[kk ijh{kd

2- eq[; fuokZpu vk;qä

3- v/;{k] la?k yksd lsok vk;ksx
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4. Attorney General for India.
Select the correct answer using the code
given below:

          a) 1, 2, 3 and 4
b) 1, 2 and 4
c) 1 and 2
d) 2 and 3

22. Which of the following functions are
not performed by WTO?
a) Trade related tariff and non-tariff

barriers
b) Trade related intellectual property

rights
c) Agreement related to agriculture
d) Regional trade agreements

23. National Income in India is estimated
by-
a) NITI Aayog
b) Finance commission
c) Indian Statistical Institute
d) Central Statistical Organization

24. Which of the following is used in fire
extinguishers?
a) Baking soda b) Quick lime
c) Slaked lime d) Washing soda

25. Which one of the following is used to
detect finger-prints on a piece of paper?
a) X-rays
b) Infra-red radiation
c) Ultra-violet radiation
d) Gama rays

26. The function of heavy water in a
nuclear reactor is to
a) Slow down the speed of neutrons.
b) Increase the speed of neutrons
c) Cool down the reactor
d) Stop the nuclear reaction

27. The demographic transition theory
defines 4 stages of population growth
such as

Stage 1: Typically seen in less developed
countries where birth rates are high but
a large number of people die of
preventable causes leading to a stable
population.

Stage 2: Death rates fall steeply as
deaths from preventable causes are
reduced by better food supply and
improved public health, but birth rates
remain high due to high fertility, poor
social development and limited access
to health and contraceptive services.
This often leads to a spurt in
population.

Stage 3: Birth rates fall but population
continuous to grow because there are
a large number of people in the
reproductive age group due to the high
fertility of the previous generations.

Stage 4: Countries achieve a stable
population once again with low birth
and low death rates but at a higher level
of social and economic development.
Population is stable but higher than in
stage one.

India is at which of the following stage
of demographic transition?

a)     Stage 1 b) Stage 2

c) Stage 3 d) Stage 4

28. Which of the following states has the
least percentage of urban population
according to the census 2011?

a) Himachal Pradesh

b) Bihar

c) Assam

d) Arunachal Pradesh
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4- Hkkjr dk egkU;k;oknh

uhps fn, x, dwV dk mi;ksx dj lgh mÙkj
dk p;u djsa%

d½ 1] 2] 3 vkSj 4

[k½ dsoy 1] 2 vkSj 4

x½ dsoy 1 vkSj 2

?k½ dsoy 2 vkSj 3

22-22-22-22-22- fuEufyf[kr esa ls dkSu lk dk;Z fo'o O;kikj
laxBu }kjk ugha fd;k tkrk gS\

d½ O;kikj ls lacaf/kr VSfjQ vkSj xSj&VSfjQ
ck/kk,a

[k½ O;kikj ls lacaf/kr ck Sf)d laink
vf/kdkj

x½ —f"k ls lacaf/kr le>kSrs

?k½ {ks=h; O;kikj le>kSrs

23-23-23-23-23- Hkkjr esa jk"Vªh; vk; dk vkdyu djrk gS%

d½ uhfr vk;ksx

[k½ foÙk vk;ksx

x½ Hkkjrh; lkaf[;dh laLFkku

?k½ dsaæh; lkaf[;dh; laxBu

24-24-24-24-24- fuEufyf[kr esa ls dkSu lk vfXu 'keu ;a=ksa esa
mi;ksx fd;k tkrk gS\

d½ [kkus okyk lksMk [k½ vucq>k pwuk

x½ dkfLVd pwuk ?k½ /kksus okyk lksMk

25-25-25-25-25- fuEufyf[kr esa ls fdls dkxt ij maxyh ds
fu'kkuksa dk irk yxkus ds fy, mi;ksx fd;k
tkrk gS\

d½ ,Dl&js [k½ vojä fofdj.k

x½ ijkcSaxuh fofdj.k ?k½ xkek fdj.ksa

26-26-26-26-26- ijek.kq fj,DVj esa Hkkjh ikuh dk dk;Z gS%

d½ U;wVª‚u dh xfr ean djuk

[k½ U;wVª‚u dh xfr esa o`f) djuk

x½ fj,DVj dks 'kkar djuk

?k½ ijek.kq çfrfØ;k dks jksduk

27-27-27-27-27- tulkaf[;dh; laØe.k fl)kar tula[;k o`f)
ds 4 pj.kksa dks ifjHkkf"kr djrk gS] tSls fd%

pj.k 1%pj.k 1%pj.k 1%pj.k 1%pj.k 1% vkerkSj ij de fodflr ns'kksa esa
ns[kk tkrk gS fd tUe nj vf/kd gksrh gS vkSj
e`R;q dh jksdFkke dh lqfo/kk u gksus ls e`R;q
nj Hkh vf/kd gksrh gS- blds pyrs tula[;k
fLFkj cuh jgrh gSA

pj.k 2%pj.k 2%pj.k 2%pj.k 2%pj.k 2% csgrj [kk| vkiwfrZ vkSj lkoZtfud
LokLF; lqfo/kkvksa tSls jksdFkke ds mik;ksa ds
pyrs èR;q nj esa rst fxjkoV ns[kus dks feyrh
gS] ysfdu [kjkc lkekftd fodkl vkSj lhfer
LokLF; rFkk xHkZ fujks/kd lqfo/kkvksa ds pyrs
tUe nj vf/kd jgrh gS- blls tula[;k nj
dks c<+kok feyrk gS-

pj.k 3%pj.k 3%pj.k 3%pj.k 3%pj.k 3% tUe nj fxjrh gS] ysfdu tula[;k
c<+rh tkrh gS] D;ksafd fiNyh ihf<+;ksa dh mPp
çtuu {kerk ds dkj.k çtuu vk;q lewg esa
cM+h la[;k esa yksx gksrs gSaA

pj.k 4%pj.k 4%pj.k 4%pj.k 4%pj.k 4% dksbZ ns'k de tUe nj vkSj de e`R;q
nj ds lkFk ,d ckj fQj fLFkj tula[;k
gkfly djrk gS] ysfdu lkekftd vkSj vkfFkZd
fodkl ds mPp Lrj ij tula[;k fLFkj gksrh
gS] ysfdu çFke pj.k dh vis{kk vf/kd gksrh
gSA

tulkaf[;dh; laØe.k ds fuEufyf[kr pj.k
esa ls Hkkjr fdl pj.k esa gS\

d½ pj.k 1 [k½ pj.k 2

x½ pj.k 3 ?k½ pj.k 4

28-28-28-28-28- 2011 dh tux.kuk ds vuqlkj fuEufyf[kr esa
ls fdu jkT;ksa esa 'kgjh vkcknh dk çfr'kr
U;wure gS\

d½ fgekpy çns'k

[k½ fcgkj

x½ vle

?k½ v#.kkpy çns'k
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29. Which of the following is not among the
endanger species in India?

1. Nilgiri Langur 2. Wild Dog

3. Sloth 4. Bear

5. Chinkara

Select the correct code:

a) 1, 2 and 3 b)  3, 4 and 5

c) 2 and 4 d)  None

30. Match the following:

Column I Column II

A. Kaziranga 1. One-horned
National Park rhinoceros

B. Sundarbans 2. Royal
Bengal Tiger

C. Gir National 3. Asiatic lion

Park

D. Desert National 4. Great Indian
Park Bustard

Select the correct code:

A B C D

a) 1 2 3 4

b) 2 1 4 3

c) 2 1 3 4

d) 4 2 1 3

31. Match the following:

Column I Column II

A. Central Water 1. Surface
Commission Water

B. Indian 2. Precipitation

Meteorological

Department

C. Central Pollution 3. Water
Control Board Quality

D. Department 4. Watershed
of Forests Management

Select the correct code:

A B C D
a) 1 2 3 4
b) 3 2 1 4
c) 1 4 3 2
d) 4 2 1 3

32. Which of the following is a warm
current?
a) Benguela current
b) Labrador current
c) Kurosiwo current
d) South Pacific current

33. Which of the following early
Satyagrahas of Mahatma Gandhi in
India was commemorated recently on
its completion of 100 years?
a) Champaran Satyagraha
b) Rowlatt Satyagraha
c) Kheda Satyagraha
d) Ahmadabad Mill Strike

34. The Upanishads are collectively called
a)  Vedanta b) Vedangas
c)  Shruti d)  Smriti

35. Which Gupta ruler was an expert Veena
player who also led a campaign to the
south?
a)  Sri Gupta
b) Samudragupta
c) Chandragupta Vikramaditya
d) Skandagupta

36. The mixed style of temple architecture
in India is called:
a) Nagara b) Vesara
c)   Dravida d)  Hindustani

37. Which one of the following European
trading groups first established its
factory at Surat?
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2929292929- fuEufyf[kr esa ls dkSu Hkkjr esa foyqIrçk;
çtkfr;ksa esa ls ,d ugha gS\
1- uhyfxjh yaxwj 2- taxyh dqÙkk
3- Ly‚Fk 4- Hkkyw
5- fpadkjk
lgh dwV dk p;u djsa%
d½ dsoy 1] 2 vkSj 3

[k½ dsoy 3] 4 vkSj 5

x½ dsoy 2 vkSj 4

?k½ dksbZ ugha

30-30-30-30-30- fuEufyf[kr dks lqesfyr djsa%

lwph 1lwph 1lwph 1lwph 1lwph 1 lwph 2lwph 2lwph 2lwph 2lwph 2

v- dkthjaxk 1- ,d lhax okyk xsaMk

jk"Vªh; m|ku

c- lqanjcu 2- j‚;y caxky Vkbxj

l- fxj jk"Vªh; 3- ,f'k;kbZ 'ksj

m|ku

n- jk"Vªh; e#LFky 4- xzsV bafM;u cLVMZ

m|ku

lgh dwV dk p;u djsa%

v c l n

d½ 1 2 3 4

[k½ 2 1 4 3

x½ 2 1 3 4

?k½ 4 2 1 3

3131313131- fuEufyf[kr dks lqesfyr djsa%

lwph 1lwph 1lwph 1lwph 1lwph 1 lwph 2lwph 2lwph 2lwph 2lwph 2

v- dsaæh; ty vk;ksx 1- /kjkryh; ty

c- Hkkjrh; ekSle 2- o"kZ.k

foKku foHkkx

l- dsaæh; çnw"k.k 3- ty xq.koÙkk

fu;a=.k lfefr

n- ou foHkkx 4- okVj'ksM çca/ku

lgh dwV dk p;u djsa%

v c l n

d½ 1 2 3 4

[k½ 3 2 1 4

x½ 1 4 3 2

?k½ 4 2 1 3

32-32-32-32-32- fuEufyf[kr esa ls dkSu m".k /kkjk gS\

d½ caxq,yk /kkjk [k½ ysczkMksj /kkjk

x½ D;wjksf'kvks /kkjk ?k½ nf{k.k ç'kkar /kkjk

33-33-33-33-33- gky gh esa Hkkjr esa egkRek xka/kh ds fuEufyf[kr
çkjafHkd lR;kxzgksa esa ls fdls 100 o"kZ iwjk gksus
ds miy{; esa euk;k x;k\

d½ paikj.k lR;kxzg

[k½ jkSysV lR;kxzg

x½ [ksM+k lR;kxzg

?k½ vgenkckn fey gM+rky

34-34-34-34-34- mifu"kn dks lkewfgd :i ls dgk tkrk gS%

d½ osnkar [k½ osnkax

x½ Jqfr ?k½ Le`fr

35-35-35-35-35- dkSu xqIr 'kkld ,d fo'ks"kK oh.kk oknd Fkk]
ftlus nf{k.k esa vfHk;ku Hkh pyk;k Fkk\

d½ JhxqIr

[k½ leqæxqIr

x½ paæxqIr foØekfnR;

?k½ LdUnxqIr

36-36-36-36-36- Hkkjr esa eafnj okLrqdyk dh fefJr 'kSyh dks
dgk tkrk gS%

d½ ukxj [k½ oslj

x½ æfoM+ ?k½ fganqLrkuh

37-37-37-37-37- fuEufyf[kr fdl ,d ;wjksih; O;kikfjd lewg
us lwjr esa vius dkj[kkus dh LFkkiuk dh\
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a) The Portuguese b) The Dutch
c) The English   d) The French

38. The Theosophical Society was founded
in the U. S. A. by
a) Dr. Annie Besant
b) A. O. Hume
c) Tilak and Gokhale
d) Madam Blavatsky and Olcott

39. The Montagu-Chelmsford Report
formed the basis of
a) The Indian Councils Act, 1909
b) The Government of India Act, 1919
c)    The Government of India Act, 1935
d)   The Indian Independence Act, 1947

40. Match List I with List II and select the
correct answer using the codes given
below the lists.

List I (Authors)
A. V.D. Savarkar
B. Ashok Mehta
C. S. N. Sen
D. R. C. Mazumdar

List II (Books)
1. The Sepoy Mutiny and the Revolt

of 1857
2. The Indian War of Independence
3. 1857- The Great Rebellion
4. Eighteen Fifty Seven
Codes:
              A           B           C           D
a)       4            3           2           1
b)       1            2           3           4
c)       2            3           4           1
d)       1            4           3           2

41. Who gave the call for ‘Evergreen
Revolution’?
a) M. S. Swaminathan
b) A. P. J. Abdul Kalam

c) Dr. Manmohan Singh

d) M. S. Ahluwalia

42. In banking language, what is the correct
meaning of the term ‘core banking
solution’?

a) It is networking of branches,
which enables Customers to
operate their accounts, and
avail banking services from any
branch of the Bank on CBS
network, regardless of where he
maintains his account.

b) It is networking of interbank
transactions, which enables
Customers to operate their
accounts,  and avail banking 
services from one Bank to another
bank.

c) It is a new banking regulation
norms introduced by the RBI, so
that, banking fraud can be noticed
in advance.

d) It is a new facility provided by the
banks to their valued customers to
ensure convenience in their
banking operations.

43. The recently introduced GST (Goods
and Services Tax) doesn’t include which
of the following tax?

a) Service Tax

b) Corporation Tax

c) Custom Duties

d) Excise Duties

44. Which one of the following is used for
measuring the speed of wind?

a)  Hygrometer b)  Barometer

c)  Anemometer d)  Thermometer

45. Which one of the following pairs is
correctly matched?
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d½ iqrZxkyh [k½ Mp

x½ vaxzst ?k½ Ýkalhlh

38-38-38-38-38- fFk;kslksfQdy lkslk;Vh dh LFkkiuk vesfjdk
esa fdlus dh Fkh\

d½ M‚ ,uh cslsaV

[k½ ,-vks- áwe

x½ fryd vkSj xks[kys

?k½ eSMe CyokRLdh vkSj vksYdksV

39-39-39-39-39- ekWUVsaX;w&psElQksMZ fjiksVZ dk vk/kkj Fkk%

d½ Hkkjrh; ifj"kn vf/kfu;e] 1909

[k½ Hkkjr ljdkj vf/kfu;e] 1919

x½ Hkkjr ljdkj vf/kfu;e] 1935

?k½ Hkkjrh; Lora=rk vf/kfu;e] 1947

40-40-40-40-40- lwph I ds lkFk lwph II dks lqesfyr djsa vkSj
lwfp;ksa ds uhps fn, x, dwV dk mi;ksx dj
lgh mÙkj dk p;u djsa%

 lwph  lwph  lwph  lwph  lwph I ¼ys[kd½¼ys[kd½¼ys[kd½¼ys[kd½¼ys[kd½ lwph lwph lwph lwph lwph II  ¼iqLrdsa½ ¼iqLrdsa½ ¼iqLrdsa½ ¼iqLrdsa½ ¼iqLrdsa½

v- oh Mh  lkojdj 1- flikgh foæksg
vkSj 1857 dk foæksg

c- v'kksd esgrk 2- Lora=rk dk
Hkkjrh; ;q)

l- ,l ,u lsu 3- 1857& egk foæksg

n- vkj lh etwenkj 4- vBkjg lkS lÙkkou

dwV%

v c l n

d½ 4 3 2 1

[k½ 1 2 3 4

x½ 2 3 4 1

?k½ 1 4 3 2

41-41-41-41-41- ^lnkcgkj Økafr^ dh 'kq#vkr fdlus dh Fkh \

d½ ,e ,l LokehukFku

[k½ , ih ts vCnqy dyke

x½ M‚ eueksgu flag

?k½ ,e ,l vgywokfy;k

42-42-42-42-42- cSafdax Hkk"kk esa] ̂dksj cSafdax lek/kku^ 'kCnkoyh
dk lgh vFkZ D;k gS\

d½ ;g 'kk[kkvksa dh usVofdaZx gS] tks xzkgdksa
dks vius [kkrksa dks lapkfyr djus esa
l{ke cukrh gS vkSj og dksj cS a fdax
lek/kku usVodZ ij cSad dh fdlh Hkh
'kk[kk ls fcuk blds /;ku fn, fd mldk
[kkrk dgk¡ gS] cSafdax lsokvksa dk ykHk
mBkrk gSA

[k½ ;g varjcSad ysunsu dh usVofdaZx gS] tks
xzkgdksa dks vius [kkrksa dks lapkfyr djus
esa l{ke cukrh gS] vkSj og ,d cSad ls
nwljs cSad esa cSafdax lsokvksa dk ykHk mBkrk
gSA

x½ ;g Hkkjrh; fjtoZ cSad }kjk is'k fd;k
x;k ,d u;k cSafdax fofu;eu ekunaM
gS] rkfd cSafdax /kks[kk/kM+h ij vfxze
/;ku fn;k tk ldsA

?k½ cS adks a }kjk vius cS afdax ifjpkyu esa
lqfo/kk lqfuf'pr djus ds fy, vius
lEekfur xzkgdksa dks çnku dh xbZ ,d
ubZ lqfo/kk gSA

43-43-43-43-43- gky gh esa is'k fd, x, GST ¼lkeku vkSj
lsok dj½ esa fuEufyf[kr esa ls dkSu dj 'kkfey
ugha gS\

d½ lsok dj [k½ fuxe dj

x½ lhek 'kqYd ?k½ mRikn 'kqYd

44-44-44-44-44- iou dh xfr dks ekius ds fy, fuEufyf[kr esa
ls fdls mi;ksx fd;k tkrk gS\

d½ vknZzrkekih [k½ cSjksehVj

x½ ,uheksehVj ?k½ FkekZehVj

45-45-45-45-45- fuEufyf[kr esa ls dkSu lk ;qXe lgh <ax ls
lqesfyr gS%
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a) Haldia : Orissa

b) Jamnagar : Maharashtra
c) Numaligarh : Gujarat
d) Panangudi : Tamil Nadu

46. What is the predominant type of Indian
agriculture?
a) Commercial agriculture
b) Extensive agriculture
c) Plantation agriculture
d) Subsistence agriculture

47. Which of the following soils is most
suitable for the cultivation of cotton in
India?
a) Red soil b)  Laterite soil
c) Alluvial soil d)  Black soil

48. Sri Harikota situated in Andhra Pradesh
is famous for—
a) National Remote Sensing Agency
b) Vikram Sarabhai Space Centre
c) Satellite Launch Centre

         d) Satellite Tracking and Ranging
Station

49. The highest annual range of
temperature is recorded in the:
a) Equatorial region
b)   Savanna grasslands
c) Mediterranean region
d)   Hot desert

50. Mangrove vegetation in India is most
extensively found in:
a) Coastal Areas
b) Desert areas.
c) Main Land Areas
d)    Forest Areas

51. Which one among the following is/are
not a greenhouse gas?
a) Methane
b) Ozone

c) Chlorofluorocarbon
d) Sulphur dioxide

52. Hurricane Cyclone is a feature of which
of the following countries?
a) China b) USA
c) Philippines d) India

53. Petroleum deposits in India are chiefly
found in
a) Granite
b) Basalt
c) Metamorphic rocks
d)   Sedimentary rocks

54. Which state in India has been
demanding for a separate state flag?
a) Bihar                b) Goa
c) Karnataka      d) Tamil Nadu

55. India is not a member of which of the
following groups?
a) Wassenaar group
b) Australian group
c) Nuclear Supplier Group
d) MTCR

56. The members of Rajya Sabha are
elected by which of the following
methods of elections?
a) Proportional representation
b) First Past The Post System
c) Mixed type of direct and indirect

elections
d) None of these

57. India can be classified as:-
a) A trade-surplus economy
b) A labour-intensive economy
c) A capital-intensive economy
d) A food-deficit economy

58. When was India’s first official census
operation undertaken? Choose the
correct option.
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d½ gfYn;k % mM+hlk

[k½ tkeuxj % egkjk"Vª

x½ uqekyhx<+ % xqtjkr

?k½ ikukxqM+h % rfeyukMq

4646464646- Hkkjrh; —f"k dk çeq[k çdkj D;k gS\

d½ okf.kfT;d —f"k

[k½ O;kid —f"k

x½ jksi.k —f"k

?k½ fuokZg —f"k

47-47-47-47-47- Hkkjr esa dikl dh [ksrh ds fy, fuEufyf[kr
esa ls dkSu lh feêh lcls mi;qä gS\

d½ yky feêh [k½ ysVjkbV feêh

x½ tyks<+ feêh ?k½ dkyh feêh

48-48-48-48-48- vka/kz çns'k esa fLFkr Jh gfjdksVk çfl) gS%

d½ jk"Vªh; lqnwj laosnu ,tsalh

[k½ foØe lkjkHkkbZ varfj{k dsaæ

x½ mixzg ç{ksi.k dsaæ

?k½ lSVsykbV VªSfdax vkSj jsaftax LVs'ku

49-49-49-49-49- rkieku dh mPpre okf"kZd lhek ntZ dh xbZ gS%

d½  Hkwe/;js[kh; {ks=

[k½ lokuk ?kkl ds eSnku

x½ Hkwe/;lkxjh; çns'k

?k½ m".k e#LFky

50-50-50-50-50- Hkkjr esa eSaxzkso ouLifr lcls vf/kd O;kid
:i ls ikbZ tkrh gS%

d½ rVh; {ks= esa

[k½ jsfxLrkuh {ks= esa

x½ eq[; Hkwfe {ks= esa

?k½ ou {ks= esa

51-51-51-51-51- fuEufyf[kr esa ls dkSu lk xzhu gkml xSl
ugha gS\

d½ ehFksu

[k½ vkstksu

x½ Dyksjks¶yksjksdkcZu

?k½ lYQj Mkbv‚DlkbM

52-52-52-52-52- fuEufyf[kr ns'kksa esa ls gfjdsu pØokr fdldh
fo'ks"krk gS\

d½ phu [k½ vesjhdk

x½ fQyhihal ?k½ Hkkjr

53-53-53-53-53- Hkkjr esa isVªksfy;e Hk.Mkj eq[; :i ls ik,
tkrs gSa%

d½ xzsukbV [k½ cl‚YV

x½ dk;karfjr 'kSy ?k½ volknh 'kSy

54-54-54-54-54- Hkkjr esa dkSu lk jkT; vyx jkT; /ot dh
ekax dj jgk gS\

d½ fcgkj [k½ xksok

x½ dukZVd ?k½ rfeyukMq

55-55-55-55-55- Hkkjr fuEufyf[kr lewgksa esa ls fdldk lnL;
ugha gS\

d½ oklsuj lewg

[k½ v‚LVªsfy;kbZ lewg

x½ ijek.kq vkiwfrZdrkZ lewg

?k½ ,eVhlhvkj ¼MTCR½

56-56-56-56-56- jkT;lHkk lnL;ksa dk fuokZpu pquko dh
fuEufyf[kr fdl fof/k ls fd;k tkrk gS\

d½ vkuqikfrd çfrfuf/kRo

[k½ tks T;knk er ik;k og thrk

x½ çR;{k vkSj vçR;{k pquko dk fefJr çdkj

?k½ bues ls dksbZ ugha

57-57-57-57-57- Hkkjr dks oxhZ—r fd;k tk ldrk gS %

d½ ,d O;kikj vf/k'ks"k vFkZO;oLFkk

[k½ ,d Je&dsafær vFkZO;oLFkk

x½ ,d iwathxr vFkZO;oLFkk

?k½ ,d [kk| ?kkVk vFkZO;oLFkk

58-58-58-58-58- Hkkjr dh igyh vkf/kdkfjd tux.kuk vfHk;ku
dc 'kq: gqvk Fkk\ lgh fodYi pqusaA
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a) 1877 b) 1881
c) 1891 d) 1901

59. Which type of Economic Systems
mentioned below, did India adopt after
independence?
a) Capitalism, where Market Forces

are dominant.
b) Socialism, where the State is the

sole Decision Maker.
c) Mixed Economic System, which

combines features of capitalism
and socialism with state as
dominant player.

d) Mixed Economic System, which
combines the best features of
capitalism and socialism with
market as dominant player.

60. What were the characteristics of the
“Green Revolution” in India? Select the
correct answer by choosing one of the
codes given below :-
I. The large increase in production

of food grains resulting from the
use of “High Yielding Variety”
(HYV) seeds

II. The huge increase in the use of
fertilizer and pesticides

III. It enabled India to achieve self-
sufficiency in food grains

IV. It benefited the small farmers
more than the rich farmers.

Codes:
           a)     I, II and III b) I and IV

 c) I and II d) I and III
61. With regards to privatization,

“Strategic Sale” refers to which of the
following statements.
1. The sale of 51 percent or more

stake of a PSU to the private sector
which bids the highest

2. The ownership of a PSU is also
handed over to the private sector
with more than 51 percent stake
in it.

Choose the correct answer from the
following codes:
a) 1 Only b)  2 Only
c)  Both 1 and 2 d) Neither 1 nor 2

62. The trade strategy of “Import
Substitution” was aimed at :-

1. Replacing or substituting imports
with domestic production

2. Protecting domestic industries
from foreign competition through
the instruments of tariffs and
quotas.

Select the correct code given below.
a) 1 Only b) 2 Only
c) Both 1 and 2 d) Neither 1 nor 2

63. World Trade Organisation (WTO)
succeeded its predecessor organisation
known as General Agreement on Trade
and Tariff (GATT) in which of the
following years?
a) 1985 b) 1990
c) 1995 d) 1999

64. Consider the following table.
(NEP) Words
1. Liberalisation
2. Privatisation
3. Globalisation
SN. Meanings
A. Rollback of the Government by

divestment or even by outright sale
of PSUs

B. Economic integration of India
with the rest of the world through
removal of trade and investment
barriers
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d½ 1877 [k½ 1881

x½ 1891 ?k½ 1901

59-59-59-59-59- uhps of.kZr vkfFkZd ç.kkfy;ksa esa ls fdl çdkj
dh ç.kkyh dks Hkkjr us viuk;k\

d½ iwathokn] tgka cktkj dh “kfDr;ka çHkkoh
gSaA

[k½ lektokn] tgka jkT; ,dek= fu.kZ;
drkZ gSA

x½ fefJr vkfFkZd ç.kkyh] tks iwathokn vkSj
lektokn dh lqfo/kkvksa dks jkT; ds
lkFk çeq[k lgHkkxh ds :i esa tksM+rh
gSA

?k½ fefJr vkfFkZd ç.kkyh] tks iwathokn vkSj
lektokn dh loksZÙke lqfo/kkvksa dks cktkj
ds lkFk çeq[k lgHkkxh ds :i esa tksM+rh
gSA

60-60-60-60-60- Hkkjr esa ^^gfjr Økafr^^ dh fo'ks"krk,a D;k Fkha\

1- ^^mPp iSnkokj fofo/krk^^ ¼HYV½ cht ds
mi;ksx ls mRiUu vukt ds mRiknu esa
cM+h o`f)

2- moZjd vkSj dhVuk'kdksa ds mi;ksx esa
Hkkjh o`f)

3- blus Hkkjr dks vukt esa vkRefuHkZjrk
gkfly djus esa l{ke cuk;kA

4- blls vehj fdlkuksa ds eqdkcys NksVs
fdlkuksa dks vf/kd Qk;nk gqvkA

uhps fn, x, dwVksa esa ls lgh mÙkj dk p;u
djsa %

d½ dsoy 1] 2 vkSj 3 [k½ dsoy 1 vkSj 4

x½ dsoy 1 vkSj 2 ?k½ dsoy 1 vkSj 3

61-61-61-61-61- futhdj.k ds laca/k esa] ^^lkefjd fcØh^^
fuEufyf[kr fdl dFku dks fufnZ"V djrh gS\

1- futh {ks= esa lkoZtfud {ks= ds miØe
dh 51 çfr'kr ;k vf/kd fgLlsnkjh dh
fcØh tks cksyh mPpre gksA

2- lkoZtfud {ks= ds miØe dk LokfeRo
futh {ks= dks 51 çfr'kr ls T;knk
fgLlsnkjh ds lkFk lkSai fn;k x;k gSA

uhps fn, x, dwV dk mi;ksx dj lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

62-62-62-62-62- ^^vk;kr çfrLFkkiu^^ dh O;kikj j.kuhfr dk
y{; Fkk%

1- ?kjsyw mRiknu ds lkFk vk;kr dks cny
;k çfrLFkkfir djuk

2- ^VSfjQ vkSj dksVk^ ds midj.kks a ds
ek/;e ls fons'kh çfrLi/kkZ ls ?kjsyw m|ksxksa
dh j{kk djukA

uhps fn, x, dwV dk mi;ksx dj lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

63-63-63-63-63- fo'o O;kikj laxBu ¼WTO½ vius iwoZorhZ
laxBu] ftls O;kikj vkSj VSfjQ ds lkekU;
le>kSrs ¼GATT½ ds :i esa tkuk tkrk gS ds
LFkku ij fuEufyf[kr fdl o"kZ esa vk;k\

d½ 1985 [k½ 1990

x½ 1995 ?k½ 1999

64-64-64-64-64- fuEufyf[kr rkfydk ij fopkj djsa%

¼ubZ vkfFkZd uhfr½¼ubZ vkfFkZd uhfr½¼ubZ vkfFkZd uhfr½¼ubZ vkfFkZd uhfr½¼ubZ vkfFkZd uhfr½ 'kCn'kCn'kCn'kCn'kCn

1- mnkjhdj.k

2- futhdj.k

3- oS'ohdj.k

Øe la-   vFkØe la-   vFkØe la-   vFkØe la-   vFkØe la-   vFkZ

v- fofuos”k ;k ih,l;w dh ,deq'r fcØh ds
tfj, ljdkj dk vius fgLlsnkjh de
djuk

c- O;kikj vkSj fuos'k ck/kk,a gVkdj 'ks"k
fo'o ds lkFk Hkkjr dk vkfFkZd ,dhdj.k
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C. Removal of obstacles and
unnecessary restrictions on the
private sector.

Choose the answer by selecting one of
the following codes given below:-

a) 1-A, 2-B, 3-C b) 1-B, 2-A, 3-C

c) 1-C, 2-A, 3-B d) 1-A, 2-C, 3-B

65. Read the following statements with
regard to the apex body NABARD in the
scheme of Rural Development:-

1. National Bank for Agriculture and
Rural Development was set up in
1982.

2. It functioned as an apex body to
coordinate the activities of all
financial institutions involved in
the rural financing system.

Choose the correct code:-

a) 1 Only b) 2 Only

c) Both 1 and 2 d) Neither 1 nor 2

66. “Operation Flood” refers to which of
the following?

a) Flood Control Measures

b) Agricultural Research and
Development Projects

c) Fisheries

d) Huge increase in milk production
and marketing through milk co-
operatives

67. Which of the following is meant by the
term “Mixed Farming”?

a) Rearing of animals and cultivation
of crops together

b) Cultivation of both cash crops and
food crops together

c) Cultivation of two or more crops
in the same field

d) None of the above

68.  Which of the following Amendments is
related to the Preamble?
 a)     42nd   b) 24th
c) 44th    d) 91st

69. Which of the following veto powers is
not enjoyed by the President of India?

          a)     Absolute Veto
b) Suspensive Veto
c) Qualified Veto
d) Pocket Veto

70. “Golden Revolution” is related to
a) Production of gold
b) Tremendous rise in horticultural

production
c) Increase in fish production
d) Increase in milk production

71. Consider the following statements with
reference to Sardar Vallabhbhai Patel.
1. He successfully led Bardoli

Satyagraha.
2. He was minister of Home,

Information and Broadcasting in
Interim Government.

3. His birth anniversary is celebrated
as ‘National Unity Day’.

Which of the above statements is/are
correct?
a) 1 and 2 b) 2 and 3
c) 1 and 3 d) 1, 2 and 3

72. Kesavananda Bharati case is famous in
the political history of India after
Independence. Which of the following
doctrine was given by the Supreme
Court in this case?
a) Doctrine of Basic Structure
b) Doctrine of Parliamentary

Supremacy
c) Doctrine of Judicial Supremacy
d) Doctrine of Executive Supremacy
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l- futh {ks= ij ls :dkoVksa vkSj vuko';d
çfrca/kksa dks gVkuk

uhps fn, x, fuEufyf[kr dwVksa esa ls lgh
mÙkj dk p;u djsa%

d½ 1&v] 2&c] 3&l [k½ 1&c] 2&v] 3&l

x½ 1&l] 2&v] 3&c ?k½ 1&v] 2&l] 3&c

65-65-65-65-65- xzkeh.k fodkl dh ;kstuk esa 'kh"kZ fudk;
ukckMZ ds laca/k esa fuEufyf[kr dFkuksa dks i<+sa%

1- —f"k vkSj xzkeh.k fodkl ds fy, jk"Vªh;
cSad dh LFkkiuk 1982 esa gqbZ FkhA

2- ;g xzkeh.k foÙk iks"k.k ç.kkyh esa 'kkfey
lHkh foÙkh; laLFkkuksa dh xfrfof/k;ksa dks
leUof;r djus ds fy, ,d 'kh"kZ fudk;
ds :i esa dk;Z djrk gSA

lgh dwV dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

66-66-66-66-66- ^v‚ijs'ku ¶yM* fuEufyf[kr esa ls fdlls
lacaf/kr gS\

d½ ck<+ fu;a=.k mik;

[k½ —f"k 'kks/k vkSj fodkl ifj;kstuk

x½ eNyh ikyu

?k½ nw/k mRiknu esa vR;f/kd c<+ksrjh vkSj
nw/k lgdkjh laLFkkvksa }kjk ekdsZfVax

67-67-67-67-67- fuEufyf[kr esa ls fdl dFku dk vFkZ ̂ fefJr
—f"k* ls lacaf/kr gS\

d½ i'kqikyu vkSj Qly cqokbZ dk lkFk&lkFk
gksuk

[k½ udnh vkSj [kk| Qlyksa dh ,d lkFk
cqokbZ

x½ ,d gh [ksr esa nks ;k nks ls vf/kd
Qlyksa dh cqokbZ

?k½ mijksä esa dksbZ ugha

68-68-68-68-68- fuEufyf[kr esa ls dkSu lk la'kks/ku çLrkouk
ls lacaf/kr gS\

d½ 42oka [k½ 24oka

x½ 44 oka ?k½ 91oka

69-69-69-69-69- fuEufyf[kr esa ls fdl ohVks ikoj dk bLrseky
Hkkjr dk jk"Vªifr ugha dj ldrk gS\

d½ iw.kZ ohVks

[k½ vfLFkj ohVks

x½ lhfer ohVks

?k½ ikdsV ohVks

70-70-70-70-70- ^Lo.kZ Økafr^ lacaf/kr gS%

d½ Lo.kZ mRiknu ls

[k½ ckxokuh mRiknu esa vR;f/kd c<+r ls

x½ eNyh mRiknu esa c<+ksrjh ls

?k½ nw/k mRiknu esa c<+ksrjh ls

71-71-71-71-71- ljnkj oYyHk HkkbZ iVsy ds laca/k esa fuEufyf[kr
dFkuksa ij fopkj djsa-

1- mUg k s a u s  c kjn k sy h lR;kx zg dk
lQyrkiwoZd usr`Ro fd;k-

2- varfje ljdkj esa og x`g] lwpuk vkSj
lapkj ea=h Fks-

3- muds tUefnu dks jk"Vªh; ,drk fnol
ds :i esa eukrs gSa-

fuEufyf[kr esa ls dkSu lk@ls dFku lgh
gS@gSa \

d½ dsoy 1 vkSj 2 [k½ dsoy 2 vkSj 3

x½ dsoy 1 vkSj 3 ?k½ mijksä lHkh

72-72-72-72-72- Lora=rk ds ckn ds'kokuan Hkkjrh dk ekeyk
Hkkjr ds jktuhfrd bfrgkl esa cgqr çfl)
jgkA bl ekeys esa lqçhe dksVZ us fuEufyf[kr
esa ls dkSu lk fl)kar fn;k\

d½ cqfu;knh lajpuk dk fl)kar

[k½ lalnh; çHkqrk dk fl)kar

x½ U;kf;d çHkqrk dk fl)kar

?k½ dk;Zdkjh çHkqrk dk fl)kar
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73. 73rd and 74th Amendment Acts to the
Indian Constitution are related with
which of the following?
a) Goods and Services Tax
b) Local Self Governments
c) Reservation to women in

Parliament
d) Panchayati Raj Institutions

74. The general elections held in 2014 to
the Lok Sabha are numbered as?
a) 14th Lok Sabha elections
b) 15thLok Sabha elections
c) 16thLok Sabha elections
d) 17thLok Sabha elections

75. Which of the following part of Indian
Constitution finds reference of
‘Uniform Civil Code’?
a) Fundamental Duties
b) Fundamental Rights
c) Citizenship
d) Directive Principles of State Policy

76. Which among the following is not a
Fundamental Right in Indian
Constitution?
a) Right to Equality
b) Right against Exploitation
c) Right to Property
d) Right to Freedom of Religion

77. Cobalt-60 is usually utilized in radio
therapy because of emission of
a) Alpha rays b) Gamma rays
c) Beta rays d) X-rays

78. Which of the following has maximum
energy?
a) Violet light b) Green light
c) Red light           d) Yellow light

79. Television viewers using dish antenna
to receive satellite (DTH) signals do not
receive signals during rain, because:

1. Their antennas are small.
2. Rain droplets absorb the energy of

radio waves.
3. Rain droplets disperse the energy

of radio waves from their original
direction.

Which of the above statements is/are
correct?
a) Only 1 b) Only 1 and 2
c) Only 2 and 3 d) All three

80. Muscles get fatigue due to accumulation
of
a) Lactic acid
b) ATP
c) Phosphate molecules

         d) Carbon dioxide
81. Ozone layer is present in which layer

of the atmosphere?
a) Troposphere
b) Ionosphere
c) Stratosphere
d)    Exosphere

82. Which of the following microbes can be
used as insecticide?
1. Bacteria
2. Fungi
3. Virus
Select the correct answer using the
codes given below.
a) 1 only b) 1 and 3 only

          c) 1, 2 and 3 d)     3 only
83. Bio-medical Waste includes which of

the followings?
1. Human anatomical waste.
2. Animal anatomical waste.
3. Treatment apparatus.
Select the correct answer using the code
given below.
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73-73-73-73-73- Hkkjrh; lafo/kku dk 73oka vkSj 74oka lafo/kku
la'kks/ku fuEufyf[kr esa ls fdlls lacaf/kr gS\
d½ leku vkSj lsok dj ¼GST½
[k½ LFkkuh; Lo ljdkj
x½ laln esa efgykvksa dks vkj{k.k
?k½ iapk;rh jkt laLFkkvksa ls lacaf/kr

74-74-74-74-74- 2014 ds vke pquko fdl yksdlHkk ds pquko
ls lacaf/kr Fks\
d½ 14oha yksdlHkk
[k½ 15oha yksdlHkk
x½ 16oha yksdlHkk
?k½ 17oha yksdlHkk

75-75-75-75-75- ^leku ukxfjd lafgrk* Hkkjr ds lafo/kku ds
fdl fgLls ls lacaf/kr gS\
d½ ewy drZO;
[k½ ekSfyd vf/kdkj
x½ ukxfjdrk
?k½ jkT; ds uhfr funs'kd rRo

76-76-76-76-76- Hkkjrh; lafo/kku esa fuEufyf[kr esa ls dkSu
ekSfyd vf/kdkj ugha gS\
d½ lekurk dk vf/kdkj
[k½ 'kks"k.k ds fo#) vf/kdkj
x½ laifÙk dk vf/kdkj
?k½ /kkfeZd Lora=rk dk vf/kdkj

77-77-77-77-77- jsfM;ks fpfdRlk esa dksckYV&60 dk ç;ksx
fuEufyf[kr ds mRltZu ds dkj.k gksrk gS
d½ vYQk fdj.k [k½ xkek fdj.k
x½ chVk fdj.k ?k½ ,Dl&js

78-78-78-78-78- fuEufyf[kr esa ls fdlesa vf/kdre ÅtkZ gksrh
gS\
d½ cSaxuh fdj.ksa [k½ gjh fdj.ksa
x½ yky fdj.ksa ?k½ ihyh fdj.ksa

79-79-79-79-79- Vsyhfotu n'kZd lsVsykbV ladsrksa dks idM+us
ds fy, fM'k ,aVhuk ¼DTH½ dk ç;ksx djrs
gSaA o"kkZ gksus dh fLFkfr esa ;s ladsr ugha feyrs
gSa] D;ksafd

1- ,aVhuk NksVs gksrs gSaA
2- o"kkZ dh cwansa jsfM;ks rjaxksa dh ÅtkZ dks

'kksf"kr dj ysrh gSaA
3- o"kkZ dh cwansa jsfM;ks rjaxksa dh ÅtkZ dks

mudh okLrfod fn'kk ls fopfyr dj
nsrh gSaA

mijksä dFkuksa esa ls dkSu lk@ls dFku lgh
gS@gSa%
d½ dsoy 1 [k½ dsoy 1 vkSj 2
x½ dsoy 2 vkSj 3 ?k½ mijksä lHkh

80-80-80-80-80- ekalisf”k;ksa esa Fkdku fuEufyf[kr ds ,d=hdj.k
ds dkj.k gksrk gS
d½ ysfDVd ,flM
[k½ ATP

x½ QkLQsV v.kq
?k½ dkcZu Mkb&v‚DlkbM

81-81-81-81-81- ok;qeaMy ds fdl Lrj ij vkstksu lrg ekStwn
gS\
d½ {kksHk eaMy [k½ vk;u eaMy
x½ lerki eaMy ?k½ cfgeaZMy

82-82-82-82-82- fuEufyf[kr esa dkSu lk@ls lw{e thoksa dk
dhVuk'kdksa esa ç;ksx gksrk gS\
1- thok.kq
2- dod
3-  fo"kk.kq
uhps fn, x, dwV ds ç;ksx ls lgh mÙkj dk
p;u djsa
d½ dsoy 1 [k½ dsoy 1 vkSj 3
x½ mijksä lHkh ?k½ dsoy 3

83-83-83-83-83- fuEufyf[kr esa ls D;k tSo&vk;qfoZKkuh; vo'ks"k
esa 'kkfey gS\
1- ekuo 'kkjhfjd vo'ks"k
2- tSo 'kkjhfjd vo'ks"k
3- mipkj midj.kksa ds vo'ks"k
uhps fn, x, dwV ds ç;ksx ls lgh mÙkj dk
p;u djsa
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a) 1 and 2 only b) 1 only
c) 2 and 3 only d) 1, 2 and 3

84. Which of the following ‘endangered’
species is known as the “tiger of Indian
rivers”?
a) Golden Mahseer
b) Catfish
c) Tuna
d) Gangetic Dolphin

85. Ramsar convention is related to
conservation of:
a) Tiger
b) Elephants
c) Crop genetic diversity
d) Wetlands

86. The most efficient method of
biodegradable urban solid waste
management is:
a) Landfills b) Pelletisation
c) Gasification d) Composting

87. Match list I and list II and select the
correct answer using codes given
below the lists

List I
A. Ozone depletion
B. CO2 reduction
C. Sustainable development
D. Hazardous waste

List II
I. Basel convention
II. Kyoto Protocol
III.   Rio Summit  development
IV. Montreal  Protocol
Code:

A B C D
a) I IV III II
b) IV II III I

c) II III IV I
d) IV III II I

88. The Sardar Sarovar Dam Project is
located at:
a) Tapi River
b) Narmada River
c) Sabarmati River
d) Mahi river

89. Which of the following is not a
consequence of global warming?
a) Rising sea level
b) Increased agricultural

productivity worldwide
c) Worsening health effects
d) Increased storm frequency and

intensity
90. Acid rain is formed due to contribution

from the following pair of gases
a) Methane and ozone
b) Oxygen and nitrous oxide
c) Methane and sulphur dioxide
d) Carbon dioxide and sulphur

dioxide
91. The term ‘Collegium’ in Indian judiciary

is most suitably related to
a) Appointment of judges
b) Constitution of benches
c) Removal of judges
d) Executive advice to judges

92. Which of the following is not a source
of fresh water?
a) Glaciers b) River
c) Groundwater d) Sea

93. Recently, Government of India has
initiated Ayushman Bharat. It is related
to
a) Rural electrification
b) Space mission
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d½ dsoy 1 vkSj 2 [k½ dsoy 1

x½ dsoy 2 vkSj 3 ?k½ mijksä lHkh

84-84-84-84-84- fuEufyf[kr esa ls dkSu lk yqIrçk; tho
ÞHkkjrh; ufn;ksa dk ck?kß ds uke ls tkuk
tkrk gSA

d½ xksYMu egk'khj

[k½ dSVfQ'k

x½ Vwuk

?k½ xaxk dh MkyfQu

85-85-85-85-85- jkelj dUosa'ku fuEufyf[kr ds laj{k.k ls
lacaf/kr gS%

d½  ck?k

[k½ gkFkh

x½ tSo Qly fofo/krk

?k½ vkæ Hkwfe

86-86-86-86-86- lcls mi;qä tSofufEudj.k 'kgjh Bksl dwM+k
çca/ku fof/k gS%

d½ Hkjko {ks=

[k½ isysVkbts'ku

x½ xSlhdj.k

?k½ daiksfLVax

87-87-87-87-87- lwph &1 vkSj lwph&2 dks lqesfyr djsa vkSj
uhps fn, x, dwV ls lgh mÙkj dk p;u djsaA

   lwph & 1         lwph  lwph & 1         lwph  lwph & 1         lwph  lwph & 1         lwph  lwph & 1         lwph – 22222

v-  vkstksu 1- csly dUosa'ku
gzkl

c- CO2 esa fxjkoV 2- D;ksVks çksVksd‚y

l- laoguh; fodkl 3- fj;ks lfeV

n- [krjukd vo'ks"k  4- e‚fUVª;y çksVksd‚y

dwV%

v c l n

d½      1 4     3 2

[k½      4 2 3     1

x½      2    3 4     1

?k½      4    3     2     1

88-88-88-88-88- ljnkj ljksoj cka/k ifj;kstuk fLFkr gS-

d½ rkih unh

[k½ ueZnk unh

x½ lkcjerh unh

?k½ ekgh unh

89-89-89-89-89- fuEufyf[kr esa ls dkSu Xykscy okfeaZx dk
ifj.kke ugha gS\
d½ lkxj Lrj dk c<+uk
[k½ fo'o Hkj esa —f"k mRiknu dk c<+uk
x½ LokLF; ij cqjk çHkko
?k½ pØokrksa dh ek=k vkSj rhozrk esa c<+r

90-90-90-90-90- fuEufyf[kr esa fdl xSl ;qXe ds feyus ls
vEyh; o"kkZ dk fuekZ.k gksrk gS
d½ ehFksu vkSj vkstksu
[k½ vkDlhtu vkSj ukbVªl v‚DlkbM
x½ ehFksu vkSj lYQj MkbZv‚DlkbM
?k½ dkcZu Mkb&v‚DlkbM vkSj lYQj

Mkbv‚DlkbM
91-91-91-91-91- Hkkjrh; U;k; O;oLFkk esa dksysft;e ¼Col-

legium½ inkoyh fuEufyf[kr esa fdlls lcls
lgh  lacaf/kr gS\
d½ U;k;k/kh'kksa dh fu;qfä
[k½ cSapksa ds xBu
x½ U;k;k/kh'kksa dks gVkus
?k½ U;k;k/kh'kksa dks dk;Zdkjh lykg

92-92-92-92-92- fuEufyf[kr esa ls dkSu lk 'kq) ikuh dk lzksr
ugha gS\
d½ Xysf'k;j [k½ unh
x½ Hkwty ?k½ leqæ

93-93-93-93-93- gky gh esa Hkkjr ljdkj us vk;q"eku Hkkjr
;kstuk 'kq: dh gSA ;g lacaf/kr gSA
d½ xzkeh.k fo|qfrdj.k
[k½ varfj{k vfHk;ku
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c) Health sector
d) Education sector

94. Which of the following statements is
incorrect regarding the term Letter of
Undertaking (LoU)?
a) LoU is an undertaking provided by

one bank to another bank, in
favour of or on behalf of a
customer.

b) LoUs are used by a bank’s
customer to avail short-term
credit in a foreign country.

c) The borrower uses her existing
credit relationship with a bank in
India to avail the required credit
outside the country.

d) None of these
95. The RBI Governor is appointed by

a) The Prime Minister
b) The Cabinet
c) The President
d) The Parliament

96. PAHAL is a scheme recently launched
by the government which has become
very successful. It is related to
a) Health Insurance
b) Gas Cylinder
c) Employment
d) Scholarship

97. Which of the following is the correct
name of designation of the United
Nations’ head?

a) The President
b) The Secretary General
c) The Chairman
d) The Chief Head

98. The Governor of a state after Assembly
elections, invites a party to form
government
I. On his own
II. When a party stakes claim to form

government
III. At the instruction of central

government
Select the incorrect code:
a) Only I b) Only II
c) Only III d) Only I and II

99. The Government of India Act 1935
was enacted on the basis of
a) Simon Commission report
b) Civil Disobedient Movement
c) Poona Pact
d) Demand for complete

independence
100.Which of the following is not correct

related to the Prime Minister of India?
a) He is appointed by the President
b) He is directly elected by people
c) He can be member of either House

of Parliament
d) He is considered as de facto head

of the government
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x½ LokLF; {ks=
?k½ f'k{kk {ks=

9494949494- fuEufyf[kr dFkuksa esa ls dkSu lk dFku opu
i= ¼Letter of Undertaking½ ds ckjs esa
lgh ugha gS\
d½ opu i= fdlh ,d cSad }kjk fdlh

nwljs cSad dks vius xzkgd ds i{k esa ;k
mldh vksj ls tkjh fd;k tkrk gSA

[k½ opu i= dk bLrseky cSad dk xzkgd
fons'k esa NksVh vof/k dk _.k gkfly
djus ds fy, djrk gSA

x½ dtZnkrk fdlh cSad ds lkFk Hkkjr esa
viuh ekStwnk ØsfMV fj'rksa dk ç;ksx
ns'k ds ckgj vko';d ØsfMV gkfly
djus esa djrk gSA

?k½ mijksä esa dksbZ ughaA

95-95-95-95-95- Hkkjrh; fjtoZ cSad ds xouZj dh fu;qfä djrk
gS

d½ ç/kkuea=h [k½ dSfcusV

x½ jk"Vªifr ?k½ laln

96-96-96-96-96- gky gh esa ljdkj }kjk 'kq: dh xbZ igy
¼PAHAL½ ;kstuk] tks fd dkQh lQy jgh gS]
fuEufyf[kr esa ls fdlls lacaf/kr gS\

d½ LokLF; chek [k½ xSl flysaMj

x½ jkstxkj ?k½ Nk=o`fÙk

97-97-97-97-97- fuEufyf[kr esa ls dkSu lk la;qä jk"Vª ds
çeq[k dk lgh inuke gS\

d½ n çsflMsaV

[k½ n lsØsVªh tujy

x½ n ps;jeSu

?k½ n phQ gsM

98-98-98-98-98- fdlh jkT; dk jkT;iky fo/kkulHkk ds pqukoksa
ds ckn ljdkj cukus ds fy, fdlh ikVhZ dks
fuea=.k nsrk gS

1- Lofoosd ds vk/kkj ij-

2- tc dksbZ ikVhZ ljdkj cukus dk nkok
djrh gS-

3- dsaæ ljdkj ds funsZ'k ds vk/kkj ij-

lgh dwV dk pquko djsa-

d½ dsoy 1 [k½ dsoy 2

x½ dsoy 3 ?k½ dsoy 1 vkSj 2

99-99-99-99-99- Hkkjr ljdkj vf/kfu;e 1935 dks vfHkuhr
fd;k x;k Fkk

d½ lkbeu deh'ku fjiksVZ ds vk/kkj ij

[k½ lfou; voKk vkanksyu ds vk/kkj ij

x½ iwuk iSDV ds vk/kkj ij

?k½ iw.kZ Lora=rk dh ekax ds vk/kkj ij

100-100-100-100-100- Hkkjr ds ç/kkuea=h ds ckjs esa fuEufyf[kr esa
D;k lgh ugha gS\

d½ og jk"Vªifr }kjk fu;qä fd;k tkrk gS-

[k½ og lh/ks turk }kjk pquk tkrk gS-

x½ og laln ds fdlh lnu dk lnL; gks
ldrk gS-

?k½ og okLrfod :i ls ljdkj dk çeq[k
ekuk tkrk gS-
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tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

v uq ns ”kv uq ns ”kv uq ns ”kv uq ns ”kv uq ns ”k

1 -1 -1 -1 -1 - ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysa
fd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slk
gS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaA

2 -2 -2 -2 -2 - —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd OMR mÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k
iqfLRkdk vuqØe iqfLRkdk vuqØe iqfLRkdk vuqØe iqfLRkdk vuqØe iqfLRkdk vuqØe A, B, C  ;k ;k ;k ;k ;k D dks] dks] dks] dks] dks] /;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj
dwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr
esa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkA

3 -3 -3 -3 -3 - bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks’Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk
ij vkSj dqN u dqN u dqN u dqN u dqN u fy[ksaA

4 -4 -4 -4 -4 - bl ijh{k.k iqfLrdk esa 100100100100100 iz”uka”k ¼iz”u½ fn, x, gSaA izR;sd iz”uka”k fgUnh vkSj vaxzsth nksuksa esa Nik
gSA izR;sd iz”uka”k esa pkj izR;qÙkj ¼mÙkj½ fn, x, gSaA bueas ls ,d izR;qÙkj dks pqu ysa] ftls vki
mÙkj&i=d ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vf/kd izR;qÙkj lgh gS] rks
ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz”uka”k ds fy, dsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d gh izR;qÙkj
pquuk gSA

5 -5 -5 -5 -5 - vkidks vius lHkh izR;qÙkj vyx ls fn, x, mÙkj&i=d ij gh vafdr djus gSaA mÙkj&i=d esa esa fn,
x, funsZ”k ns[ksA

6 -6 -6 -6 -6 - lHkh iz”uka”kksa ds vad leku gSaA

7 -7 -7 -7 -7 - blls igys fd vki ijh{k.k iqfLrdk ds fofHkUUk iz”uka”kksa ds izR;qÙkj mÙkj&i=d ij vafdr djuk “kq:
djsa] vkidks izos”k izek.k&i= ds lkFk izsf’kr vuqns”kksa ds vuqlkj dqN fooj.k mÙkj&i=d esa nsus gSaA

8 -8 -8 -8 -8 - vki vius lHkh izR;qÙkjksa dks mÙkj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoydsoydsoydsoydsoy
mÙkj&i=dmÙkj&i=dmÙkj&i=dmÙkj&i=dmÙkj&i=d v/kh{kd dks lkSai nsaA vkidks vius lkFk ijh{k.k iqfLRkdk ys tkus dh vuqefr gSA

9 -9 -9 -9 -9 - ;fn dksbZ mEEkhnokj ,d ls vf/kd mÙkj nsrk gS] rks bls xyr mÙkjxyr mÙkjxyr mÙkjxyr mÙkjxyr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa
esa ls ,d mÙkj lgh gksrk gS] fQj Hkh ml iz”u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k
tk,xkA

A
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tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa
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2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C, OR D AS THE CASE MAY
BE IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.

3. You have to enter your roll number on the test booklet in the Box provided
alongside. Do not write anything else on the test booklet.

4. This test booklet contains 100 items (questions). Each item is printed both in
Hindi and English. Each item comprises four responses (answer). You will select
the response which you want to mark on the answer sheet.

5. You have to mark all your response only on the separate Answer sheet provided.
See directions in the answer sheet.

6. All item carry equal marks.

7. Before you proceed to mark in the Answer sheet the response to various items
in the Test Booklet, you have to fill in some particular in the Answer Sheet as per
instructions sent to you with your Admission Certificate.
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the examination has concluded, you should hand over to the invigilator only the
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penalty as above to that question.
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1. Consider the following statements:

1. Hot currents flow from tropical
zone to lower latitudes to higher
temperature.

2. Cold currents flow from higher
latitudes to lower latitudes.

Which of the statements given above is/
are correct?

 a) 1 only b) 2 only

c)  Both d) None

2. Which of the following is/are not
correct about the FICCI?

1. The FICCI is the largest and oldest
apex business organization in
India.

2. It is a non-profit government
organization.

Select the correct answer using the code
given below:

a) 1 only

b) 2 only

c) All of the above are incorrect

 d) None of the above is Incorrect

3. Which of the following statements is/
are correct about Indus Valley
Civilisation?

1. The Harappans grew cotton with
the help of canal irrigation.

2. There was an extensive inland
and foreign trade network.

Select the correct answer using the code
given below:

a) 1 only b) 2 only

c) Both d) None

4. Consider the following pairs:

  Features of Indian              Sources
Constitution

1. Appointment of the
Governor by the
Centre - Australia

2. Directive Principles
of State Policy -  Ireland

3. Emergency
Provisions - USA

Which of the pairs given above is/are
correctly matched?

a) 1 and 2 only

b) 2 only

c) 3 only

d) All of the above

5. Who are the recipients of Rajiv Gandhi
Khel Ratna Award 2018?

a) Hima Das and Virat Kohli

b) S. Mirabai Chanu and Virat Kohli

c) Hima Das and M.S.Dhoni

d) M.S.Dhoni and S. Mirabai Chanu

6. Radio Broadcasting in India was
begun in:

a) 1927 b) 1930

c) 1936 d) 1923

7. Consider the following statements:

1. Shale Gas development will help
to reduce Green-House gases
emission.

2. China holds the largest reserve of
Shale gas.

Which of the statements given above
is/are correct?

a) 1 only b) 2 only
c) Both d) None
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1-1-1-1-1- fuEufyf[kr dFkuksa ij fopkj djsa%

1- m".k /kkjk,a mPp dfVca/kh; {ks=ksa dks
fuEu v{kka'kksa rFkk mPp rkieku dh vksj
çokfgr gksrh gSaA

2- 'khr /kkjk,a mPp v{kka'kksa ls fuEu v{kka'kksa
dh vksj çokfgr gksrh gSaA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

2 -2 -2 -2 -2 - FICCI ds ckjs esa fuEufyf[kr esa ls dkSu lk@ls
lgh ugha gS@gSa\

1- FICCI Hkkjr dk lcls iqjkuk vkSj lcls
cM+k loksZPp O;kikj la?k gSA

2- ;g xSj&ykHkdkjh ljdkjh la?k gSA

uhps fn, x, dwV dk mi;ksx djds lgh mÙkj
dk p;u djsa%

d½ dsoy 1

[k½ dsoy 2

x½ mijksä lHkh xyr gSaA

?k½ mijksä esa ls dksbZ xyr ugha gSA

3 -3 -3 -3 -3 - flU/kq ?kkVh lH;rk ds ckjs esa fuEufyf[kr esa
ls dkSu lk@ls dFku lgh gS@gSa\

1- gM+Iikoklh ugjh flapkbZ dh lgk;rk ls
dikl mxkrs FksA

2- ogk¡ ij ,d varnsZ'kh; vkSj fons'kh O;kikj
usVodZ FkkA

uhps fn, x, dwV dk mi;ksx djds lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

4-4-4-4-4- fuEufyf[kr ;qXeksa ij fopkj djsa%

Hkkjrh; lafo/kku L=ksr ¼lafo/kku½

dh fo'ks"krk,a

1- dsaæ }kjk jkT;iky v‚LVªsfy;k

  dh fu;qfä

2- jkT; ds uhfr funsZ'kd vk;jySaM

  rRo

3- vkikrdky dk çko/kku la;qä jkT;
vesfjdk

mijksä ;qXeksa esa ls dkSu lk@ls lgh <ax ls
lqesfyr gS@gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 2

x½ dsoy 3 ?k½ mijksä lHkh

5 -5 -5 -5 -5 - 2018 esa jktho xka/kh [ksy jRu iqjLdkj fdls
fn;k x;k gS\

d½ fgek nkl vkSj fojkV dksgyh

[k½ ,l- ehjkckbZ pkuw vkSj fojkV dksgyh

x½ fgek nkl vkSj egsaæ flag /kksuh

?k½ egsaæ flag /kksuh vkSj ,l- ehjkckbZ pkuw

6 -6 -6 -6 -6 - Hkkjr esa jsfM;ks çlkj.k dh 'kq#vkr dc gqbZ\

d½ 1927 esa [k½ 1930 esa

x½ 1936 esa ?k½ 1923 esa

7 -7 -7 -7 -7 - fuEufyf[kr dFkuksa ij fopkj djsa%

1- 'kSy xSl ds fodkl ls xzhu gkml xSlksa
ds mRltZu dks de djus esa enn feysxhA

2- 'kSy xSlksa dk lcls cM+k Hk.Mkj phu ds
ikl gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1

[k½ dsoy 2

x½ nksuksa

?k½ dksbZ ugha
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8. Consider the following statements:
1. The concept of ‘Green GDP’

attempts to factor in the cost of
depleted natural resources and
pollution.

2. China calculates its Green GDP.
Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None

9. The mass of a body will be:
a) Maximum at the poles
b) Maximum at the equator
c) Same everywhere on the surface

of the earth.
d) Equal at the hills and plain

10. Which of the following Planet is known
as Earth’s twin?
a) Mercury b) Venus
c) Mars d) None

11. The first India-Central Asia dialogue
was recently held in:
a) New Delhi b) Samarkand
c) Tashkent d) Astana

12. Arrange the following Mughal
emperors in chronological order:
1. Muhammd Shah
2. Akbar II
3. Ahmad Shah
4. Alamgir II
Correct order is:
a) 1-2-3-4 b) 1-3-4-2
c) 1-4-3-2 d) 4-3-2-1

13. Who won the 2019 Australian Open
title in men’s singles category?
a) Roger Federer
b) Kei Nishikori
c) Rafael Nadal
d) Novak Djokovic

14. Consider the following:

1. COMCASA

2. LEMOA

3. BECA

These terms are related with:

a) India-Japan relations

b) UN resolutions

c) India-USA defense relations

d) WTO trade related disputes

15. Which of the following is/are not listed
as Eco-Sensitive Zone/s?

1. Girnar Reserve Forest.

2. Puma Wildlife Sanctuary.

3. Mount Abu

Select the correct answer using the code
given below:

a) 1 only b) 2 and 3 only
c) 3 only d) All are listed

16. Consider the following pairs:

Common Names Scientific Names

1. Dog Cannis Familiar

2. Mouse Rodentia muridea

3. Ass Equis Azinus

Which of the pairs given above is/are
correctly matched?

a) 1 only b) 1 and 2 only

c) All d) None

17. Match the following

Parts of Indian Related to
Constitution

A. Part X 1. Official Language

B. Part XV 2. Schedule and Tribe
    Area

C. Part XVII 3. Elections

D. Part XX 4. Amendment of the
     Constitution
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8 -8 -8 -8 -8 - fuEufyf[kr dFkuksa ij fopkj djsa%

1- ^gfjr thMhih^ dh vo/kkj.kk esa ?kVrs
çk—frd lalk/kuksa ,oa çnw"k.k dh ykxr
dks 'kkfey fd;k tkrk gSA

2- phu viuh ^gfjr thMhih^ dh x.kuk
djrk gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

9 -9 -9 -9 -9 - fdlh fiaM dk æO;eku%

d½ Ëkzqoksa ij lcls vf/kd gksxkA

[k½ Hkwe/; js[kk ij vf/kdre gksxkA

x½ i`Foh dh lrg ij gj txg cjkcj gksxkA

?k½ igkM+ksa vkSj eSnkuksa esa cjkcj gksxkA

10-10-10-10-10- fuEufyf[kr esa ls dkSu lk xzg i`Foh dk tqM+oka
ekuk tkrk gS\

d½ cq/k [k½ 'kqØ

x½ eaxy ?k½ dksbZ ugha

11-11-11-11-11- gky gh esa çFke Hkkjr&e/; ,f'k;k okrkZ dgk¡
gqbZ gS\

d½ ubZ fnYyh [k½ lejdan

x½ rk'kdan ?k½ vLrkuk

12-12-12-12-12- fuEufyf[kr eqxy lezkVksa dks dkykuqØe ds
vuqlkj O;ofLFkr djsa%

1- eqgEen 'kkg 2- vdcj f}rh;

3- vgen 'kkg 4- vkyexhj f}rh;

lgh Øe gS%

d½ 1&2&3&4 [k½  1&3&4&2

x½ 1&4&3&2 ?k½  4&3&2&1

13-13-13-13-13- 2019 ds iq#"k ,dy oxZ esa v‚LVsªfy;u vksiu
dk f[krkc fdlus thrk gS\

d½ jkstj QsMjj [k½ dsbZ fu'khdksjh

x½ jkQsy uMky ?k½ uksokd tksdksfop

14-14-14-14-14- fuEufyf[kr ij fopkj djsa%
1- COMCASHA

2- LEMOA

3- BECA

;s 'kCnkofy;ka lEcaf/kr gSa%
d½  Hkkjr&tkiku laca/kksa ls
[k½  la;qä jk"Vª çLrkoksa ls
x½  Hkkjr&vesfjdh lqj{kk laca/kksa ls
?k½ fo'o O;kikj laxBu esa O;kikj laca/kh

fooknksa ls
15-15-15-15-15- fuEufyf[kr esa ls dkSu&lk@ls ikfjfLFkfrdh

laosnu'khy {ks=@{ks=ksa ds :i esa lwphc) ugha
fd, x, gS@gSa\
1- fxjukj fjtoZ ou
2- I;wek oU;tho vHk;kj.;
3- ekmaV vkcw
uhps fn, x, dwV dk mi;ksx djds lgh mÙkj
dk p;u djsa%
d½ dsoy 1 [k½ dsoy 2 vkSj 3
x½ dsoy 3 ?k½ lHkh lwphc) gS-

16-16-16-16-16- fuEufyf[kr ;qXeksa ij fopkj djsa%
 lkekU; uke oSKkfud uke
1- dqÙkk dSful Qsfefy;j
2- pwgk jksfMafV;k eqjhfM;k
3- x/kk bfDol ,thul
mijksä dFkuksa esa ls dkSu lk@ls lgh <ax ls
lqesfyr gS@gSa\
d½ dsoy 1 [k½ dsoy 1 vkSj 2
x½ lHkh ?k½ dksbZ ugha

17-17-17-17-17- fuEufyf[kr dk feyku djsa%
Hkkjrh; lafo/kkuHkkjrh; lafo/kkuHkkjrh; lafo/kkuHkkjrh; lafo/kkuHkkjrh; lafo/kku lacaf/kr gSlacaf/kr gSlacaf/kr gSlacaf/kr gSlacaf/kr gS
   ds Hkkx   ds Hkkx   ds Hkkx   ds Hkkx   ds Hkkx
v- Hkkx X 1- vkf/kdkfjd Hkk"kk
c- Hkkx XV 2- vuqlwfpr tkfr ,oa

   tutkfr {ks=
l- Hkkx XVII 3- pquko

n- Hkkx XX 4- lafo/kku esa la'kks/ku
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Correct code is:
A B C D

a) 1 2 3 4
b) 2 3 1 4
c) 1 3 2 4
d) 4 1 2 3

18. Who is the present head of the Indian
Air Force?
a) Sunil Lanba b) Bir Singh Dhanoa
c) Bipin Rawat d) Dalbir Singh Suhag

19. With reference to the Indian ports,
consider the following statements:
1. Largest port in India is Jawaharlal

Nehru port in Mumbai.
2. The largest natural port is in

Vishakhapatnam.
3. Kandla port is a tidal port.
Which of the statements given above are
correct?
a) 1 and 2 only b) 1 and 3 only
c) 2 and 3 only d) All

20. With reference to the Paris Agreement,
consider the following statements:
1. It states that the future global

warming should be limited to
below 20C relative to the pre-
industrial revolution level.

2. The terms of the Agreement will
come into force since 2025.

Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None

21. With reference to the Pradhan Mantri
Ujjawala Yojana, consider the following
statements:
1. This is the first ever welfare

scheme by the Ministry of
Petroleum and Natural Gas.

2. There is an EMI Facility provision
for meeting the cost of stove and
refill cost

Which of the statements given above is/
are correct?
(a) 1 only (b) 2 only
(c) Both (d) None

22. Consider the following pairs:
Important Salts Uses
1. Sodium Manufacturing

Carbonate        of glass
2. Potassium Purification

Aluminium of water
Sulphate

3. Sodium Food
Benzoate Preservative for

Pickles
Which of the pairs given above are
correctly matched?
a) 1 and 2 only b) 1 and 3 only
c) 2 and 3 only d) All of the above

23. With reference to the General Council
of Buddhist Church, consider the
following statements:
1. The first General Council was held

in Vaisali.
2. The fourth Council was held in

Kashmir.
Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None

24. Indian Parliament law making powers
are limited due to:
1. There is a federal structure ruling

system.
2. There is a written constitution.
3. There is the provision of

fundamental right to the Indian
citizen.
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lgh dwV gS%

v c l n

d½ 1 2 3 4

[k½ 2 3 1 4

x½ 1 3 2 4

?k½ 4 1 2 3

18-18-18-18-18- Hkkjrh; ok;qlsuk dk orZeku v/;{k gS\

d½ lquhy ykEck

[k½ ohj flag /kuksvk

x½ fofiu jkor

?k½ nychj flag lqgkx

19-19-19-19-19- Hkkjrh; canjxkgksa ds lanHkZ esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- eqacbZ esa tokgj yky usg# canjxkg Hkkjr
dk lcls cM+k canjxkg gSA

2- fo'kk[kkiÙkue esa lcls cM+k çk—frd
canjxkg gSA

3- dkaMyk esa Tokjh; canjxkg gSA

mijksä dFkuksa esa ls dkSu ls lgh gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 1 vkSj 3

x½ dsoy 2 vkSj 3 ?k½ lHkh

20-20-20-20-20- isfjl le>kSrs ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- blesa dgk x;k gS fd oSf'od rkieku
dks vkS|ksfxd ØkfUr ls igys ds rkieku
ds 20C rd lhfer j[kuk pkfg,A

2- le>kSrs dh 'krsaZ 2025 esa ykxw gksaxhA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

21-21-21-21-21- ç/kkuea=h mTToyk ;kstuk ds lanHkZ es a
fuEufyf[kr dFkuksa ij fopkj djsa%

1- ;g isVªksfy;e vkSj çk—frd xSl ea=ky;
dh igyh dY;k.kdkjh ;kstuk gSA

2- blesa pwYgs vkSj fjfQy dh ykxr dks
iwjk djus ds fy, bZ,evkbZ dk çko/kku
gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

22-22-22-22-22- fuEufyf[kr ;qXeksa ij fopkj djsa%

egRoiw.kZ yo.k mi;ksx

1- lksfM;e dkcksZusV 'kh'ks ds fuekZ.k esa

2- iksVsf'k;e ty ds 'kqf)dj.k esa

  vY;qfefu;e lYQsV

3- lksfM;e csatks,V vpkj ds fy, ifjj{kd

mijksä ;qXeksa esa ls dkSu ls lgh <ax ls lqesfyr
gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 1 vkSj 3

x½ dsoy 2 vkSj 3 ?k½ mijksä lHkh

23-23-23-23-23- ckS) /keZ dh egklHkk ds lanHkZ esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- çFke egklHkk oS'kkyh esa vk;ksftr gqbZ
FkhA

2- prqFkZ egklHkk d'ehj esa vk;ksftr gqbZ
FkhA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

24-24-24-24-24- Hkkjr laln dh dkuwu cukus dh 'kfä fdu
dkj.kksa ls lhfer gS\

1- 'kklu O;oLFkk dk la?kh; <kapk

2- fyf[kr lafo/kku

3- Hkkjrh; ukxfjdksa ds fy, ewy vf/kdkjksa
dk çko/kku
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4. There is a Judicial review
Provisions.

Which of the reasons given above are
correct?
a) 1 and 2 only b) 2 and 3 only
c) 1, 2 and 3 only d) All of the above

25. In 2018, two Indians have won the
Ramon Magsaysay Award. Their names
are:
a) Bharat Vatwani and Sonam

Wangchuk
b) Arvind desai and Bharat watwani
c) Nileema Mishra and Bharat

Vatwani
d) Sandeep Pandey and Bharat

Vatwani
26. Which of the following statements is/

are incorrect about Second Five Year
Plan?
1. It was based on the P.C.

Mahalanobis Model.
2. Its main aim was to establish a

socialist order.
3. Steel plants at Durgapur, Bhilai

and Rourkela were established
during this Plan.

Select the correct answer using the code
given below:
a) 1 and 2 only
b) 2 only
c) 3 only
d) None of the above is incorrect

27. Which of the following statements is/
are incorrect?
1. Gene is hereditary unit which is

made by a special segment of DNA
found on the chromosome.

2. Change in the base sequence
within gene is called mutation.

Select the correct answer using the code
given below:
a) 1 only
b) 2 only
c) Both are correct
d) None is correct

28. Consider the following statements:
1. India is the largest producer of

mica.
2. India is poor in tin production.
Which of the statement given above is/
are correct?
 a) 1 only b) 2 only
c) Both d) None

29. Who was the first Lok sabha Speaker
of India?
a) M. A. Ayyangar
b) Sardar Hukum Singh
c) G. V. Mavalankar
d) Neelam Sanjivan Reddy

30. Consider the following species:
1. Asian Black Bear
2. Snow Leopard
3. Blue Whale
Which of the above are listed as
endangered by IUCN?
a) 1 and 2 only b) 1 and 3 only
c) 2 and 3 only d) All of the above

31. Which of the following is not a member
of BIMSTEC?
a) Maldives                  b) Sri Lanka
c) Nepal d) Thailand

32. Who was the last Sultan of Bahmani
kingdom?
a) Mahmud Gawan
b) Muhammad Shah
c) Ahmad Shah
d) Mahmud Shah
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4- U;kf;d leh{kk dk çko/kku

mijksä dkj.kksa esa ls dkSu ls lgh gSa\

d½ dsoy 1 vkSj 2

[k½ dsoy 2 vkSj 3

x½ dsoy 1] 2 vkSj 3

?k½ mijksDr lHkh

25-25-25-25-25- 2018 esa nks Hkkjrh;ksa us jSeu eSXlsls iqjLdkj
thrk gSA muds uke gSa%

d½ Hkkjr okVokuh vkSj lksue okaxpqd

[k½ jfoUn nslkbZ vkSj Hkkjr okVokuh

x½ uhfyek feJk vkSj Hkkjr okVokuh

?k½ lanhi ik.Ms; vkSj Hkkjr okVokuh

26-26-26-26-26- f}rh; iapo"khZ; ;kstuk ds ckjs esa fuEufyf[kr
esa ls dkSu lk@ls dFku xyr gS@gSa\

1- ;g ;kstuk ih-lh- egkyuksfcl e‚My
ij vk/kkfjr FkhA

2- bldk eq[; mís'; lektoknh O;oLFkk
LFkkfir djuk FkkA

3- bl ;kstuk ds nkSjku nqxkZiqj] fHkykbZ
vkSj jkmjdsyk esa bLikr la;= LFkkfir
fd, x,A

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 vkSj 2

[k½ dsoy 2

x½ dsoy 3

?k½ dksbZ Hkh dFku xyr ugha gSA

27-27-27-27-27- fuEufyf[kr esa ls dkSu lk@ls dFku xyr
gS@gSa\

1- thu ,d oa'kkuqxr bdkbZ gS] tks xq.klw=
esa ik, tkus okys Mh,u, ds fo'ks"k [kaM
ls cuk gSA

2- thu ds vUnj [kaM esa ifjorZu dks
mRifjorZu dgk tkrk gSA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa lgh gSA ?k½ dksbZ lgh ugha gSA

28-28-28-28-28- fuEufyf[kr dFkuksa ij fopkj djsa%

1- Hkkjr vHkzd dk lcls cM+k mRiknd gSA

2- Hkkjr esa fVu dk mRiknu dkQh [kjkc gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1

[k½ dsoy 2

x½ nksuksa

?k½ dksbZ ugha

29-29-29-29-29- Hkkjr dh yksdlHkk dk çFke v/;{k dkSu Fkk\

d½ ,e-,- vk;axj
[k½ ljnkj gqdqe flag
x½ th-oh- ekyadj
?k½ uhye latho jsìh

30-30-30-30-30- fuEufyf[kr çtkfr;ksa ij fopkj djsa%

1- ,f'k;kbZ dkyk Hkkyw

2- fge rsanqvk

3- Cyw Ogsy

mijksä esa ls fdlss IUCN }kjk yqIrçk; ds
:i esa lwphc) fd;k x;k gS\

d½ dsoy 1 vkSj 2 [k½ dsoy 1 vkSj 3

x½ dsoy 2 vkSj 3 ?k½ mijksä lHkh

31-31-31-31-31- fuEufyf[kr esa ls dkSu lk fcElVsd dk lnL;
ugha gS\

d½ eky}hi [k½ Jhyadk

x½ usiky ?k½ FkkbZySaM

32-32-32-32-32- cgeuh lkezkT; dk vkf[kjh lqYrku dkSu Fkk\

d½ egewn xoka

[k½ eqgEen 'kkg

x½ vgen 'kkg

?k½ egewn 'kkg



10

LUKMAAN’S  400 DREAMS TEST II

CSE 2020

33. Consider the following pairs:

State/Union High Courts

territories

1. Daman and Diu Bombay

2. Manipur Guwahati

3. Andaman and Calcutta

Nicobar Islands

Which of the pairs given above is/are
incorrectly matched?

a) 1 and 2 only b) 2 only

c) 3 only d) None

34. Which of the following Taxes are
imposed by state governments?

1. Land Revenue Tax

2. Custom Duty

3. Stamp Duty

4. Gift Tax

5. Road Tax

Correct code is:

a) 1, 2 and 3 only b) 1, 3 and 5 only

c) 1, 2, 3 and 5 only d) 4 and 5 only

35. Consider the following Pairs:

Quantities           M.K.S. units

       1. Force Kilogram. Meter2/sec3

       2. Work Kilogram. Meter/Sec2

       3. Power Kilogram. Meter2/sec2

Which of the above pairs are correctly
matched?

a) 1 and 2 only b) 2 and 3 only

c) All of the above d) None

36. Consider the following pairs:

Planets Satellites

1. Mars Demos

2. Jupiter Titan

3. Saturn Ganymede

Which of the above is/are correctly
matched?
a) 1 only b) 1 and 2 only
c) 3 only d) None

37. International Yoga Day is celebrated on:
a) May 10 b) May 25
c) June 5 d) June 21

38. Who is the Chairman of 15th Finance
Commission?
a) N. K. Singh b) Y. V. Reddy
c) Raghuram Rajan d) D. Subbarao

39. Which of the statements given below is/
are correct?
1. Wildlife conservation society is an

environmental action
organization consisting of
lawyers, scientists and others.

2. It supports the zoos and
aquariums which promotes
conservation of wildlife
protection.

Select the correct answer using the code
given below:
a) 1 only b) 2 only
c) Both d) None of the above

40. Syed Haider Raja led the Swadeshi
Movement in:
a) Allahabad b) Lahore
c) Calcutta d) Delhi

41. With references to the Lok Adalats,
consider the following statements:
1. These Adalats are part of

Alternative Dispute Resolution
(ADR) in India.

2. The decision given by the Lok
Adalats are at par with the decrees
of civil court.

Which of the statements given above is/
are correct?
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33-33-33-33-33- fuEufyf[kr ;qXeksa ij fopkj djsa%
jkT;@dsUæ'kkflr mPp U;k;ky;

çns'k
1- neu o nho eqacbZ
2- ef.kiqj xqokgkVh
3- vaMeku ,oa fudksckj dksydkrk

}hilewg
mijksä ;qXeksa esa ls dkSu lk@ls xyr <ax ls
lqesfyr gS@gSa\
d½ dsoy 1 vkSj 2 [k½ dsoy 2
x½ dsoy 3 ?k½ dksbZ ugha

34-34-34-34-34- fuEufyf[kr esa ls dkSu ls dj jkT; ljdkjksa
}kjk yxk, tkrs gSa\
1- Hkw jktLo dj 2- dLVe MîwVh
3- LVkEi MîwVh 4- migkj dj
5- lM+d dj
lgh dwV gS%
d½ dsoy 1] 2 vkSj 3
[k½ dsoy 1] 3 vkSj 5
x½ dsoy 1] 2] 3 vkSj 5
?k½ dsoy 4 vkSj 5

35-35-35-35-35- fuEufyf[kr ij fopkj djsa%
 jkf'k;k¡ ek=d
1- cy fdyksxzke- ehVj2@lsdaM3

2- dk;Z fdyksxzke- ehVj@lsdaM2

3- lkeF;Z fdyksxzke- ehVj2@lsdaM2

mijksä ;qXeksa esa ls dkSu ls lgh <ax ls lqesfyr
gSa\
d½ dsoy 1 vkSj 2 [k½ dsoy 2 vkSj 3
x½ mijksä lHkh ?k½ dksbZ ugha

36-36-36-36-36- fuEufyf[kr ;qXeksa ij fopkj djsa%
  xzg mixzg
1- eaxy Mseksl
2- o`gLifr VkbVu
3- 'kfu xSuhesM

mijksä ;qXeksa esa ls dkSu lk@ls lgh <ax ls
lqesfyr gS@gSa\

d½ dsoy 1 [k½ dsoy 1 vkSj 2

x½ dsoy 3 ?k½ dksbZ ugha

37-37-37-37-37- varjkZ"Vªh; ;ksx fnol dc euk;k tkrk gS\

d½ 10 ebZ [k½ 25 ebZ

x½ 5 twu ?k½ 21 twu

38-38-38-38-38- 15osa foÙk vk;ksx dk v/;{k dkSu gS\

d½ ,u-ds- flag [k½ okbZ- bZ- jsìh

x½ j?kqjke jktu ?k½ Mh lqCckjko

39-39-39-39-39- uhps fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

1- oU;tho laj{k.k lekt ,d i;kZoj.kh;
laxBu gS] ftlesa odhy] oSKkfud rFkk
vU; 'kkfey gSaA

2- ;g oU;tho dh lqj{kk ds laj{k.k okys
fpfM+;k?kjksa vkSj ,Dosfj;eksa dh enn djrk
gSA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

40-40-40-40-40- lS;n gSnj jtk us Lons'kh vkUnksyu dk usr`Ro
fd;k Fkk%

d½ bykgkckn esa [k½ ykgkSj esa

x½ dydÙkk esa ?k½ fnYyh esa

41-41-41-41-41- yksd vnkyrksa ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- ;s vnkyrsa Hkkjr esa oSdfYid fookn
lek/kku ¼ADR½ dk fgLlk gSaA

2- bu vnkyrksa }kjk fn, x, QSlys flfoy
vnkyrksa ds lkeku egRo j[krs gSaA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
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a) 1 only b) 2 only

c) Both d) None

42. Which of the following statements is/
are correct?

1. Inequality is usually measured
using the Gini Coefficient.

2. In India, inequality in income and
wealth is much higher than
inequality in consumptions.

Correct statement/s is/are:

a) 1 only b) 2 only

c) Both d) None

43. Which of the following is/are correct
about Ionic compounds?

1. These have high melting point and
boiling point.

2. These are insoluble in water.

3. NaCl is an example of Ionic
compound.

Select the correct answer using the code
given below:

a) 1 only b) 1 and 2 only

c) 2 only d) 1 and 3 only

44. Which of the following is state animal
of Sikkim?

a) Snow leopard

b) Red panda

c) Himalayan black bear

d) Himalayan tahr

45. The head-office of the Food and
Agriculture Organization is located in:

a) Rome b) Vienna

c) Geneva d) New York

46. The Saka era began in :

a) 58 BC b) 58 AD

c) 78 AD d) 78 BC

47. Consider the following statements:

1. Till 1978, Right to property was a
fundamental Right in Indian
Constitution.

2. In 1978, Government of India
through 44th amendment
omitted it and made it a legal right.

The Correct Statement is/are:

a) 1 only b) 2 only

c) Both d) None

48. Consider the following statements:

1. The Green Revolution was
confined mainly to the wheat crop.

2. The Blue Revolution is related to
the development of fisheries.

Which of the statements given above is/
are correct?

a) 1 only

b) 2 only

c) Both

d) None of the above

49. Hindi divas (Hindi Day) is celebrated
on:

a) 14 September b) 15 October

c) 02 March d) 21 May

50. Which of the following statements is
incorrect about the International Court
of Justice?

a) It is the principal judicial organ of
the United Nations (UN).

b) It was established in June 1945 by
the Charter of the United Nations.

c) The seat of the Court is at the Peace
Palace in The Hague (Netherlands).

d) In this Court, India has recently
won the case of Kulbhushan
Jadhav against Pakistan.



13

LUKMAAN’S  400 DREAMS TEST II

CSE 2020

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

42-42-42-42-42- fuEufyf[kr dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

1- vlekurk dks vkerkSj ij fxuh xq.kkad
esa ekik tkrk gSA

2- Hkkjr esa miHkksx dh rqyuk esa vk; vkSj
laifÙk esa vlekurk vf/kd gSA

lgh dFku gS@gSa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

43-43-43-43-43- vk;fud ;kSfxd ds ckjs esa fuEufyf[kr esa ls
dkSu lk@ls lgh gS@gSa\

1- budk xyukad vkSj DoFkukad mPp gksrk
gSA

2- ;s ty esa v?kqyu'khy gksrs gSaA

3- lk/kkj.k ued vk;fud ;kSfxd dk ,d
mnkgj.k gSA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 1 vkSj 2

x½ dsoy 2 ?k½ dsoy 1 vkSj 3

44-44-44-44-44- flfDde dk jkT; i'kq dkSu lk gS\

d½ fge rsanqvk

[k½ yky ikaMk

x½ fgeky;h dkyk Hkkyw

?k½ fgeky;h rgj

45-45-45-45-45- [kk| ,oa —f"k laxBu dk eq[;ky; dgka fLFkr
gS\

d½ jkse [k½ tsusok

x½ fo;uk ?k½ U;w;‚dZ

46-46-46-46-46- 'kd laor dc 'kq: gqvk\

d½ 50 bZlkiwoZ [k½ 58 bZLoh

x½ 78 bZLoh ?k½ 78 bZlkiwoZ

47-47-47-47-47- fuEufyf[kr dFkuksa ij fopkj djsa%

1- 1978 rd laifÙk dk vf/kdkj ,d ekSfyd
vf/kdkj FkkA

2- 1978 esa ljdkj us 44osa la'kks/ku }kjk
bls ,d dkuwuh vf/kdkj cuk fn;k FkkA

lgh dFku gS@gSa\

d½ dsoy 1

[k½ dsoy 2

x½ nksuksa

?k½ dksbZ ugha

48-48-48-48-48- fuEufyf[kr dFkuksa ij fopkj djsa%

1- gfjr ØkfUr esa xsagw dh Qly ij T;knk
/;ku fn;k x;k FkkA

2- uhyh ØkfUr eRL; mRiknu ds fodkl
ls lacaf/kr gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1

[k½ dsoy 2

x½ nksuksa

?k½ dksbZ ugha

49-49-49-49-49- fganh fnol dc euk;k tkrk gS\

d½ 14 flrEcj [k½ 15 vDVwcj

x½ 2 ekpZ ?k½ 21 ebZ

50-50-50-50-50- varjkZ"Vªh; U;k;ky; ds ckjs esa fuEufyf[kr esa
ls dkSu lk dFku xyr gS\

d½ ;g la;qä jk"Vª dk çkFkfed U;kf;d
vax gSA

[k½ bls twu 1945 esa la;qä jk"Vª ?kks"k.kki=
ds rgr LFkkfir fd;k x;k gSA

x½ ;g gsx ds ihl iSysl esa LFkkfir gSA

?k½ bl U;k;ky; esa] gky gh esa Hkkjr us
ikfdLrku ds f[kykQ dqyHkw"k.k tk/ko
dk dsl thr fy;k gSA
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51. With reference to the Green House
Gases, consider the following
statements:
1. Nitrous-oxide is produced during

the process of fossil fuels.
2. Methane is generated from

industrial sources and decaying
plants.

Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None of the above

52.  Consider the following literatures:
1. Ritusamhara
2. Kumara-Sambhava
3. Mrichchhakatika
Which of the above are written by
Kalidasa?
a) 1 and 2 only
b) 1 and 3 only
c) All are written by Kalidasa
d) None is written by Kalidasa

53. The Supreme Court of India has
original Jurisdiction on:
1. Disputes between centre and state.
2. Disputes between two or more

states.
3. Recommendations of the Finance

Commission.
4. Disputes regarding

recommendations  of the GST
Council.

Which of the above are correct?
a) 1 and 2 only b) 1, 2 and 4 only
c) 1 and 4 only d) 2, 3 and 4 only

54. Which of the following is not non-plan
expenditure?
a) Defence b) Subsidies
c) General Services d) Flood Control

55. Which of the statements given below is/
are incorrect?
1. Ethane is an example of saturated

hydro Carbon.
2. Propene is an example of

unsaturated hydro carbon.
3. Benzene is an example of

Aromatic hydro carbon.
Correct code is:
a) 1 and 2 only b) 2 only
c) 1 and 3 only d) All of the above

56. As per the Swachh Survekshan 2019,
which city is adjudged India’s cleanest
city?
a) Ambikapur b) Indore
c) Mysore d) Gandhinagar

57. Consider the following pairs:
                Tribes                       Locations

1. Tauregs Sahara
2. Red Indian          North America
3. Maoris                   Japan
Which of the pairs given above is/are
correctly matched?
a) 1 only b) 1 and 2 only
c) 3 only d) All of the above

58. Which of the following statements is/
are correct?
1. The introduction of merit-based

open competition in civil services
in 1853 technically opened the
gates to Indians.

2. It was Lord Ripan who proposed
a simultaneous competitive
examination in India.

Select the correct answer using the code
given below:
a) 1 only b) 2 only
c) Both d) None
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51-51-51-51-51- gfjr x`g xSlksa ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- tSo bZa/ku tykus ds nkSjku ukbVªl &
v‚DlkbM mRiUu gksrh gSA

2- vkS|ksfxd L=ksrksa vkSj isM+ksa dh {kfr ls
ehFksu mRiUu gksrh gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

52-52-52-52-52- fuEufyf[kr lkfgR; ij fopkj djsa%

1- _rqlagkj

2- dqekjlaHko

3- e`PNdfVde

mijksä esa ls dkSu ls dkfynkl us fy[ks gSa\

d½ dsoy 1 vkSj 2

[k½ dsoy 1 vkSj 3

x½ lHkh dkyhnkl us fy[ks gSaA

?k½ dksbZ Hkh dkfynkl us ugha fy[kk gSA

53-53-53-53-53- Hkkjr ds loksZPp U;k;ky; dk ewy {ks=kf/kdkj
gS\

1- dsaæ vkSj jkT; ds chp fookn

2- nks ;k vf/kd jkT;ksa ds chp fookn

3- foÙk vk;ksx dh flQkfj'ksa

4- th,lVh ifj"kn~ dh flQkfj'kksa ds lEcU/k
esa fookn

mijksä esa ls dkSu ls lgh gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 1] 2 vkSj 4

x½ dsoy 1 vkSj 4 ?k½ dsoy 2] 3 vkSj 4

54-54-54-54-54- fuEufyf[kr esa ls dkSu lk xSj ;kstuk O;;
ugha gS\

d½ j{kk [k½ lfClMh

x½ lkekU; lsok,¡ ?k½ ck<+ fu;a=.k

55-55-55-55-55- uhps fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\
1- ,Fksu lar̀Ir gkbMªksdkcZu dk ,d mnkgj.k

gSA
2- çksihu vlar`Ir gkbMªksdkcZu dk ,d

mnkgj.k gSA
3- csUthu ,sjkseSfVd gkbMªksdkcZu dk ,d

mnkgj.k gSA
lgh dwV gS%
d½ dsoy 1 vkSj 2 [k½ dsoy 2
x½ dsoy 1 vkSj 3 ?k½ mijksä lHkh

56-56-56-56-56- LoPN losZ{k.k 2019 ds vuqlkj fdl 'kgj dks
Hkkjr dk lcls LoPN 'kgj ?kksf"kr fd;k x;k gS\
d½ vfEcdkiqj [k½ bankSj
x½ eSlwj ?k½ xka/khuxj

57-57-57-57-57- fuEufyf[kr ;qXedksa ij fopkj djsa%
tutkfr;k¡ {ks=
1- rqvkjsx lgkjk
2- jsM bafM;u mÙkjh vesfjdk
3- ekvksjh tkiku
mijksä ;qXeksa esa ls dkSu lk@ls lgh <ax ls
lqesfyr gS@gSa\
d½ dsoy 1 [k½ dsoy 1 vkSj 2
x½ dsoy 3 ?k½ mijksä lHkh

58-58-58-58-58- fuEufyf[kr dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\
1- 1853 esa] flfoy lsok esa esfjV vk/kkfjr

[kqyh çfr;ksfxrk us rduhdh :i ls
Hkkjrh;ksa ds fy, njokts [kksy fn,A

2- ykMZ fjiu us Hkkjr esa ,d lkFk çfr;ksfxrk
dk çLrko j[kk FkkA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%
d½ dsoy 1 [k½ dsoy 2
x½ nksuksa ?k½ dksbZ ugha
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59. Which of the following statement is/are
correct?
1. Committee on Private members’

Bill and Resolution consists of 15
members.

2. The Deputy Speaker acts as the
Chairman of this committee.

Select the correct answer using the code
given below:
a) 1 only b) 2 only
c) None d) Both

60. Consider the following:
1.  Wholesale Price Index
2.  Consumer Price Index
3. Gross Domestic Production

Deflator
Which of the above is/are the measure/s
of inflation?
a) 1 only b) 1 and 2 only
c) 3 only d) All

61. The speed of the sound is maximum in:
a) Air b) Water
c) Steel d) Vacuum

62. Which of the following is the largest
Sea?
a) Caribbean Sea
b) South China Sea
c) Mediterranean Sea
d) Sea of Japan

63. Arrange the following Viceroys in
chronological order:
1. Lord Mayo
2. Lord Litton
3. Lord Ripon
4. Lord Duffrin
Correct order is:
a) 1-2-3-4 b) 1-3-2-4
c) 1-2-4-3 d) 1-4-2-3

64. Consider the following statements:
1. To be the Attorney General of

India, a person must possess the
qualifications prescribed for a
judge of the Supreme Court.

2. He can take part in the
proceedings of Parliament and its
Committees.

Which of the statement given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None

65. What were the features of New
Industrial Policy 1991?
1. Abolition of industrial licensing
2. Public sector role diluted
3. Liberalisation of industrial

location policy
4. Abolition of phased

manufacturing programmes for
new projects.

Correct answer is:
a) 1 and 2 only b) 1, 2 and 3 only
c) 2 and 4 only d) All of the above

66. Which of the following pairs are not
correctly matched?
Grasslands Country
1. Campos Argentina
2. Pampas Brazil
3. Steppes Eurasia
4. Savana Africa
Select the correct answer using the code
given below:
a) 1 and 2 only b) 2 and 3 only
c) 1 and 4 only d) 3 and 4 only

67. London is situated on which river bank?
a) Seine b) Spree
c) Tagus d) Thames
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59-59-59-59-59- fuEufyf[kr esa ls dkSu lk@ls lgh gS@gSa\

1- futh fo/ks;d vkSj çLrko ij cuh lfefr
us 15 lnL; gksrs gSaA

2- lnu dk mik/;{k ml lfefr ds v/;{k
ds :i esa dk;Z djrk gSA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ dksbZ ugha ?k½ nksuksa

60-60-60-60-60- fuEufyf[kr ij fopkj djsa%

1- Fkksd ewY; lwpdkad

2- miHkksäk ewY; lwpdkad

3- ldy ?kjsyw mRikn viLQhfrdkjd

mijksä esa ls dkSu lk@ls eqækLQhfr ds mik;
gS@gSa\

d½ dsoy 1 [k½ dsoy 1 vkSj 2

x½ dsoy 3 ?k½ lHkh

61-61-61-61-61- /ofu dh xfr lokZf/kd gksrh gS%

d½ ok;q esa [k½ ty esa

x½ LVhy esa ?k½ fuokZr esa

62-62-62-62-62- fuEufyf[kr esa ls dkSu&lk lcls cM+k lkxj
gS\

d½ dSjsfc;u lkxj [k½ nf{k.k phu lkxj

x½ Hkwe/; lkxj ?k½ tkiku lkxj

63-63-63-63-63- fuEufyf[kr ok;ljk;ksa dks muds dkykuqØe
esa O;ofLFkr djsa%

1- ykMZ es;ks

2- ykMZ fyVu

3- ykMZ fjiu

4- ykMZ MQfju

lgh Øe gS%

d½ 1&2&3&4 [k½ 1&3&2&4

x½ 1&2&4&3 ?k½ 1&4&2&3

64-64-64-64-64- fuEufyf[kr dFkuksa ij fopkj djsa%

1- loksZPp U;k;ky; ds U;k;k/kh'k ds leku
;ksX;rk j[kus okyk O;fä gh Hkkjr dk
egkU;k;oknh cu ldrk gSA

2- og laln dh dk;Zokgh vkSj mldh
lfefr;ksa esa Hkkx ys ldrk gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

65-65-65-65-65- ubZ vkS|ksfxd uhfr 1991 dh D;k fo'ks"krk,a
Fkh\

1- vkS|ksfxd ykblsaflax dh lekfIr

2- lkoZtfud {ks= dh Hkwfedk dks de djuk

3- vkS|ksfxd LFkkuhdj.k uhfr dks mnkj
djuk

4- ubZ ifj;kstukvksa ds fy, pj.kc)
fofuekZ.k dk;ZØeksa dk mUewyu

lgh mÙkj gS%

d½ dsoy 1 vkSj 2 [k½ dsoy 1] 2 vkSj 3

x½ dsoy 2 vkSj 4 ?k½ mijksä lHkh

66-66-66-66-66- fuEufyf[kr ;qXeksa esa ls dkSu ls lgh <ax ls
lqesfyr ugha gSa\

  ?kkl ds eSnku ns'k

1- dEikl czkthy

2- iEikl vtsZUVhuk

3- LVsiht ;wjsf'k;k

4- lokuk vÝhdk

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 vkSj 2 [k½ dsoy 2 vkSj 3

x½ dsoy 1 vkSj 4 ?k½ dsoy 3 vkSj 4

6767676767- yanu fdl unh ds fdukjs fLFkr gS\

d½ lhu [k½ LIkzh

x½ rsxl ?k½ VsEl
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68. India’s first genetic bank for wildlife
conservation has been inaugurated at

a) New Delhi b) Bhopal

c) Jaipur d) Hyderabad

69. Which the statements given below is/
are correct?

1. Blood group O is called universal
donor.

2. It does not contain any antibody.

Select the correct answer using the code
given below:

a) 1 only b) 2 only

c) Both are correct    d) None is correct

70. Which of the following is/ are correct
about G 20 annual summit?

1. The Annual G 20 Summit in 2018
was held in Buenos Aires
(Argentine).

2. Its theme was ‘fair and sustainable
development’

3. India will host the annual G20
Summit in 2022.

Select the correct answer using the code
given below:

a) 1 only b) 2 only

c) 1 and 2 only            (d) All

71. Krishnadeva Raya, the greatest ruler of
Vijaynagar kingdom, was belonged to
which dynasty?

a) Sangams b) Tuluvas

c) Aravidus d) Suluvas

72. Which of the following Statement is
incorrect about the Zero Hour device
related to Indian Parliament?

a) It is mentioned in the rules of the
business of the House.

b) It is Indian innovation and an
informal device.

c) The Member raise matter which,
they feel cannot brook any delay.

d) Asking questions during this hour
doesn’t need prior approval

73. Consider the following:
1. There are five identified

agricultural regions in India.
2. As per the 2018 ranking, India is

the largest producer of fishes.
Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None

74. Which of the following crops are grown
in Black soil?
1. Cotton 2. Sugar cane
3. Jowar 4. Pulses
Select the correct answer using the code
given below:
a) 1 and 2 only b) 1, 2 and 3 only
c) 3 and 4 only d) All

75. Which country is the largest source of
FDI in India?
a) Mauritius b) Singapore
c) USA d) Netherlands

76. Consider the following:
1. Universities Act
2. Official Secret Act
3. Partition of Bengal
Which of the above was/were taken
place during Lord Curzon tenure?
a) 1 only b) 1 and 2 only
c) 3 only d) All of the above

77.  With reference to the Atal Pension
Yojana, which of the following
statement/s is/ are correct?
1. It is available to all citizens of India

in age group of 18-40 years.
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68-68-68-68-68- oU;tho laj{k.k ds fy, Hkkjr dk igyk
vuqokaf'kd cSad dgk¡ LFkkfir fd;k x;k gS\

d½ ubZ fnYyh [k½ Hkksiky

x½ t;iqj ?k½ gSnjkckn

69-69-69-69-69- uhps fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

1- jä lewg ̂O^ dks lkoZHkkSfed nkrk dgk
tkrk gSA

2- bl jä lewg dksbZ ,aVhckMh ugha gksrk
gSA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

70-70-70-70-70- th&20 lEesyu ds ckjs esa fuEufyf[kr esa ls
dkSu lk@ls lgh gS@gSa\

1- 2018 esa G&20 dk okf"kZd lEeysu C;wul
vk;lZ esa vk;ksftr gqvk FkkA

2- bldk 'kh"kZd ^lR; ,oa lrr fodkl^
FkkA

3- Hkkjr 2022 esa G&20 ds okf"kZd lEesyu
dk vk;kstu djsxkA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ dsoy 1 vkSj 2 ?k½ lHkh

71-71-71-71-71- fot;uxj lkezkT; ds egkure 'kkld
—".knso jk; fdl oa'k ls lacaf/kr Fks\

d½ laxe [k½ rqyqo

x½ vjfoanq ?k½ lqyqo

72-72-72-72-72- Hkkjrh; laln ls lEcaf/kr ̂'kwU;dky^ midj.k
ds ckjs esa fuEu esa ls dkSu lk dFku xyr gS\

d½ ;g lnu ds fu;eksa esa mfYyf[kr gSA

[k½ ;g Hkkjrh; uokpkj ,oa ,d vukSipkfjd
midj.k gSA

x½ bl dky esa lnL; os ekeys mBkrs gSaA
ftuesa nsjh ugha dh tk ldrh gSA

?k½ bl dky ds nkSjku ç'u iwNus ds fy, iwoZ
vuqefr dh vko';drk ugha gksrh gSA

73-73-73-73-73- fuEufyf[kr ij fopkj djsa%

1- Hkkjr esa ikap fpfUgr —f"k {ks= gSaA

2- 2018 dh jSafdax ds vuqlkj Hkkjr eNfy;ksa
dk lcls cM+k mRiknd gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

74-74-74-74-74- fuEufyf[kr esa ls dkSu lh Qlysa dkyh feÍh
esa mxkbZ tkrh gSa\

1- dikl 2- xUuk

3- Tokj 4- nygu

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 vkSj 2 [k½ dsoy 1] 2 vkSj 3

x½ dsoy 3 vkSj 4 ?k½ lHkh

75-75-75-75-75- Hkkjr esa çR;{k fons'kh fuos'k dk lcls cM+k
L=ksr gS\

d½ ekWjh'kl [k½ flaxkiqj

x½ la;qä jkT; vesfjdk ?k½ uhnjySaM

76-76-76-76-76- fuEufyf[kr ij fopkj djsa%

1- fo'ofo|ky; vf/kfu;e

2- dk;kZy; xksiuh;rk vf/kfu;e

3- caxky dk foHkktu

mijksä esa ls dkSu lh ?kVuk@?kVuk,a ykMZ
dtZu ds dk;Zdky esa gqbZ Fkh@Fkha\

d½ dsoy 1 [k½ dsoy 1 vkSj 2

x½ dsoy 3 ?k½ mijksä lHkh

77-77-77-77-77- vVy isa'ku ;kstuk ds lanHkZ esa fuEufyf[kr esa
ls dkSu lk@ls dFku lgh gS@gSa\

1- ;g 18&40 o"kZ vk;q oxZ ds lHkh Hkkjrh;ksa
ds fy, miyC/k gSA
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2. There is no exit to scheme before
maturity age.

3. In case of death of subscriber,
spouse of subscriber is entitled for
same amount of pension till his or
her death.

Select the correct answer using the code
given below:
a) 1 only
b) 1 and 2 only
c) 1 and 3 only
d) All

78. Consider the following:
1. Supremacy of Constitution
2. An independent Judiciary
3. Absence of separate constitution

for states.
4. Single Citizenship
Which of the above are non-federal
features?
a) 1 and 2 only
b) 1 and 3 only
c) 2 and 3 only
d) 3 and 4 only

79. Consider the following:
Vitamins Deficiency diseases
A. Vitamin A 1. Osteomalacia
B. Vitamin C 2. Scurvy
C. Vitamin D 3. Non-clotting of

blood
D. Vitamin K 4. Night blindness
Correct code is:

A B C D
a) 2 3 1 4
b) 4 1 3 2
c) 4 2 1 3
d) 4 1 2 3

80. Consider the following pairs:

       Projects    Locations

1. Nagarjuna Sagar River Krishna

    Multi-purpose

     project

2. Sardar Sarowar River Narmada

     Project
3. Farakka Project River Godavari

Which of the pairs given above is/are
correctly matched?

a) 1 and 2 only b) 2 only

c) 3 only d) None

81. What will be the possible consequences
of National Mission on Government e-
Marketplace (GeM)?

1. Transparency in public
procurement.

2. Paperless transactions.

3. Cost saving on government
expenditure in procurement.

Correct code is:

a) 1 and 2 only

b) 2 and 3 only

c) All of the above

d) None of the above

82. Consider the following statements
about Akbar’s Mansabdari System:

1. The Mansabdar was assigned a
Jagir in lieu of cash payment.

2. Only Mansabdars could hold Jagir.
All other imperial staff was paid in
cash.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both d) None
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2- ifjiDo gksus ls igys ;kstuk dks NksM+
ugha ldrs gSaA

3- fdlh xzkgd dh e`R;q gksus ij mldh
iRuh dks èR;q rd lkjh lqfo/kk,a feysaxhA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%
d½ dsoy 1 [k½ dsoy 1 vkSj 2
x½ dsoy 1 vkSj 3 ?k½ mijksä lHkh

78-78-78-78-78- fuEufyf[kr ij fopkj djsa%

1- lafo/kku dh loksZPprk

2- Lora= U;k;ikfydk

3- jkT;ks a ds fy, vyx lafo/kku dh
vuqifLFkfr

4- ,dy ukxfjdrk

mijksä esa ls dkSu lh xSj&la?kh; fo'ks"krk,a
gSa\

d½ dsoy 1 vkSj 2

[k½ dsoy 1 vkSj 3

x½ dsoy 2 vkSj 3

?k½ dsoy 3 vkSj 4

79-79-79-79-79- fuEufyf[kr ij fopkj djsa%

  foVkfeu deh ls gksus okyh
    chekfj;k¡

v- foVkfeu A 1- vfLFk e`nqrk

c- foVkfeu C 2- LdohZ

l- foVkfeu D 3- jä dk FkDdk u
   teuk

n- foVkfeu K 4- jrkSa/kh

lgh dwV gS%

v c l n

d½ 2 3 1 4

[k½ 4 1 3 2

x½ 4 2 1 3

?k½ 4 1 2 3

80-80-80-80-80- fuEufyf[kr ;qXeksa ij fopkj djsa%

ifj;kstuk,a LFkku

1- ukxktqZu lkxj —".kk unh

  cgqmís'kh; ifj;kstuk

2- ljnkj ljksoj ifj;kstuk ueZnk unh

3- QjDdk ifj;kstuk xksnkojh unh

mijksä dFkuksa esa ls dkSu lk@ls ;qXe lgh
<ax ls lqesfyr gS@gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 2

x½ dsoy 3 ?k½ dksbZ ugha

81-81-81-81-81- ljdkjh bZ&cktkj ¼GeM½ ij jk"Vªh; fe'ku
ds laHkkfor ifj.kke D;k gksaxs\

1- lkoZtfud [kjhn esa ikjnf'kZrk

2- dkxtjfgr ysu&nsu

3- [kjhn ij ljdkjh [kpZ esa cpr

lgh dwV gS%

d½ dsoy 1 vkSj 2

[k½ dsoy 2 vkSj 3

x½ mijksä lHkh

?k½ mijksä esa ls dksbZ ugha

82-82-82-82-82- vdcj dh eulcnkjh O;oLFkk ds ckjs esa
fuEufyf[kr dFkuksa ij fopkj djsa%

1- eulcnkjksa dks udn Hkqxrku ds LFkku
ij tkxhjsa çnku dh tkrh FkhA

2- dsoy eulcnkj gh tkxhj j[k ldrs
Fks- vU; lHkh 'kkgh deZpkfj;ksa dks udn
esa Hkqxrku fd;k tkrk FkkA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha
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83. The three tier system of Panchayati Raj
was first adopted by Rajasthan in:

a) 1961 b) 1962

c) 1960                  d) 1959

84. Consider the following Central Public
Sector Enterprises:

1. Bharat Heavey Electric Limited

2. Steel Authority of India Limited

3. Bharat Electronic Limited

4. Mahanagar Telephone Nigam
Limited

Which of the above are Maharatna?

a) 1 and 2 only

b) 1, 2 and 3 only

c) 1, 2 and 4 only

d) All of the above

85. In 1906, The Imperial Forest Research
Institute was set up in:

a) Dehradun b) Bhopal

c) Masoorie d) Shimla

86. Which of the following is the biggest
Lake in India?

a) Sambhar b) Chilka

c) Kalleru d) Pulicat

87. Consider the following statements:

1. Sikkim’s Pakyong airport is India’s
100th functional airport.

2. After the inauguration of this
airport, every Indian state has at
least one functional Airport.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both d) None

88. Which of the statements given below is/
are correct?

1. There is no uniform system of
administration in the Union
Territories.

2. The Parliament has been vested
with the power to prescribe the
structure of administration in the
various Union Territories.

Select the correct answer using the code
given below:

a) 1 only b) 2 only

c) Both d) None

89. Integrated Child Development
Programme was started in:

a) 1975 b) 1981

c) 1991 d) 2014

90. Which development marked the British
to start its career as territorial power?

a) When they came to India in 1600
as traders

b) When they got the ‘diwani’ rights
in 1765

c) The Regulating Act 1773

d) The Government of India Act
1858

91. Which of the following city is not
identified under the HRIDAY scheme?

a) Ajmer b) Badami

c) Gaya d) Indore

92. Which of the following statement is/are
correct about ASER Survey by
Pratham?

1. It is a school based survey.

2. It focuses on the foundation skills
such as reading and Math.
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83-83-83-83-83- jktLFkku us f=Lrjh; iapk;r O;oLFkk dks
lcls igys dc viuk;k Fkk\

d½ 1961 esa [k½ 1962 esa

x½ 1960 esa ?k½ 1959 esa

84-84-84-84-84- fuEufyf[kr dsUæh; lkoZtfud {ks= ds m|eksa
ij fopkj djsa%

1- Hkkjr gSoh bysfDVªd fyfeVsM

2- LVhy vFk‚fjVh v‚Q bafM;k fyfeVsM

3- Hkkjr bysDVª‚fud fyfeVsM

4- egkuxj VsyhQksu fuxe fyfeVsM

mijksä esa ls dkSu lh egkjRu daifu;ka gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 1] 2 vkSj 3

x½ dsoy 1] 2 vkSj 4 ?k½ mijksä lHkh

85-85-85-85-85- 1906 esa bEihfj;y ou vuqla/kku laLFkku dgk¡
LFkkfir fd;k x;k Fkk\

d½ nsgjknwu [k½ Hkksiky

x½ eSlwj ?k½ f'keyk

86-86-86-86-86- Hkkjr dh lcls cM+h >hy dkSu lh gS\

d½ lkaHkj [k½ fpYdk

x½ dSYywj ?k½ iqfydV

87-87-87-87-87- fuEufyf[kr dFkuksa ij fopkj djsa%

1- flfDde dk ikD;ksax gokbZ vìk Hkkjr
dk 100oka dk;kZRed gokbZ vìk gSA

2- bl gokbZ vìs ds pkyw gksus ds ckn]
Hkkjr ds çR;sd jkT; esa de ls de ,d
dk;kZRed gokbZ vìk gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

88-88-88-88-88- fuEufyf[kr esa ls dkSu lk@ls dFku lgh
gS@gSa\

1- dsUæ'kkflr çns'kksa esa ç'kklu dh dksbZ
vkSipkfjd O;oLFkk ugha gSSA

2- laln fofHkUu dsUæ'kkflr çns'kksa esa
ç'kklfud <kapk esa flQkfj'k dh 'kfä
j[krh gSA

uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

89-89-89-89-89- ,dh—r cky fodkl dk;ZØe dc 'kq: gqvk
Fkk\

d½ 1975 [k½ 1981

x½ 1991 ?k½ 2014

90-90-90-90-90- fdl ?kVuk ds ckn vaxzst Hkkjr esa ,d 'kkflr
'kfä cu x,\

d½ tc os 1600 bZLoh esa O;kikjh ds :i esa
vk,A

[k½ tc 1965 bZLoh esa mUgsa nhokuh vf/kdkj
çkIr gq,A

x½ jsX;wysfVax vf/kfu;e 1973

?k½ Hkkjr ljdkj vf/kfu;e 1958

91-91-91-91-91- fuEufyf[kr esa ls fdl 'kgj dks HRIDAY

;kstuk ds rgr fpfUgr ugha fd;k x;k gS\

d½ vtesj [k½ cnkeh

x½ x;k ?k½ bankSj

92-92-92-92-92- çFke }kjk djk;s tkus okys ASER losZ{k.k ds
ckjs esa fuEufyf[kr esa ls dkSu lk@ls dFku
lgh gS@gSa\

1- ;g ,d Ldwy vk/kkfjr losZ{k.k gSA

2- ;g i<kbZ rFkk xf.kr tSlh vk/kkjHkwr
dq'kyrkvksa ij vk/kkfjr gksrk gSA
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Select the correct answer using the code
given below:
a) 1 only b) 2 only
c) Both d) None of the above

93. Which of the following statements is/
are correct about INC’S Lucknow
Session of 1916?
1. A common demand was raised for

representative government at the
centers as well as in the provinces.

2. The Lucknow Session was the first
united Congress Session since
1907.

Select the correct answer using the code
given below:
a) 1 only b) 2 only
c) Both d) None

94. The maximum period for which a
financial emergency can remain into
effect is:
a) 6 months b) 1 year
c) 2 years d) 3 years

95. Which of the following are used as
disinfectant of water?
1. Ozone
2. Clorine dioxide
3. Chloramines
Correct code is:
a) 1 and 2 only b) 2 and 3 only
c) All d) None

96. Gita Gopinath was recently in news.
Which of the following statements is/
are correct about her?
1. She has been appointed as the

Chief Economist of International
Monetary Fund (IMF).

2. After Raghuram Rajan, she is the
only Indian to hold this position.

Select the correct answer using the code
given below:

 a) 1 only b) 2 only
c) Both d) None

97. The boundry between India and
Pakistan was demarcated by:
a) Lord Mount Batten
b) Sir Cygril Redcliefe
c) Sir Stanford Cripps
d) Lawrance

98. Which of the following satellite/s is/are
for military purpose?
1. GSAT-7
2. MICROSAT-R
3. RISAT-1
Select the correct answer using the code
given below:
a) 1 only b) 1and 2 only
c) 2 and 3 only d) All of the above

99. With reference to the NITI Aayog,
consider the following statements:
1. It has been created by an

executive order of the
Government of India.

2. The Prime Minister of India is its
Ex-Officio Head.

3. It is a think - tank of the
Government of India.

Which of the statements given above are
correct?
a) 1 and 2 only b) 1 and 3 only
c) 2 and 3 only            d) All

100.Consider the following statements:
1. Justice Ranjan Gogoi is 46th Chief

Justice of India.
2. He is the first Chief Justice of India

from north-eastern region.
Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both d) None
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uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%
d½ dsoy 1 [k½ dsoy 2
x½ nksuksa ?k½ dksbZ ugha

93-93-93-93-93- Hkkjrh; jk"Vªh; dkaxzsl ds 1916 ds y[kuÅ
vf/kos'ku ds ckjs esa fuEufyf[kr dFkuksa esa ls
dkSu lk@ls lgh gS@gSa\
1- dsaæ ds lkFk&lkFk çkUrksa esa Hkh çfrfuf/kRo

ljdkj dh la;qä ekax mBkbZ xbZA
2- y[kuÅ vf/kos'ku 1907 ds ckn la;qä

dkaxzsl dk igyk vf/kos'ku FkkA
uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%
d½ dsoy 1 [k½ dsoy 2
x½ nksuksa ?k½ dksbZ ugha

94-94-94-94-94- foÙkh; vkikrdky vf/kdre fdrus le; ds
fy, çHkkoh jg ldrk gS\
d½ 6 ekg [k½ 1 lky
x½ 2 lky ?k½ 3 lky

95-95-95-95-95- fuEufyf[kr esa ls dkSu ls ikuh ds dhVk.kquk'kd
ds :i esa mi;ksx fd, tkrs gSa\
1- vkstksu
2- Dyksjhu Mkbv‚DlkbM
3- DyksjkekbUl
lgh dwV gS%
d½ dsoy 1 vkSj 2 [k½ dsoy 2 vkSj 3
x½ lHkh ?k½ dksbZ ugha

96-96-96-96-96- xhrk xksihukFk gky gh esa ppkZ esa Fkh- mlds
ckjs esa fuEufyf[kr esa ls dkSu lk@ ls dFku
lgh gS@gSa\
1- og fo'o eqæk dks"k dh eq[; vFkZ'kkL=h

ds :i esa fu;qä dh xbZ gSA
2- j?kqjke jktu ds ckn] og bl ij fu;qfä

ikus okyh nwljh Hkkjrh; gSaA
uhps fn, x, dwV dh lgk;rk ls lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha

97-97-97-97-97- Hkkjr vkSj ikfdLrku ds chp lhek fu/kkZfjr
dh xbZ Fkh%

d½ ykMZ ekmaVcsVu }kjk

[k½ lj dkbfxzy jsMfDyQ }kjk

x½ lj LVsuQksMZ fØIl }kjk

?k½ y‚jsal }kjk

98-98-98-98-98- fuEufyf[kr mixzg@mixzgksa esa ls dkSu lk@ls
lSU; mís'; ds fy, gS@gSa\

1. GSAT-1

2. MIC ROSAT-R

3. RISAT-1

uhps fn, x, dwV dk ç;ksx djds lgh mÙkj
dk p;u djsa%

d½ dsoy 1 [k½ dsoy 1 vkSj 2

x½ dsoy 2 vkSj 3 ?k½ mijksä lHkh

99-99-99-99-99- uhfr vk;ksx ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- bls Hkkjr ljdkj ds dk;Zdkjh vkns'k
}kjk cuk;k x;k gSA

2- Hkkjr dk ç/kkuea=h bldk insu çeq[k
gksrk gSA

3- ;g Hkkjr ljdkj dk fFkad VSad gSSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 vkSj 2 [k½ dsoy 1 vkSj 3

x½ dsoy 2 vkSj 3 ?k½ mijksä lHkh

100-100-100-100-100- fuEufyf[kr dFkuksa ij fopkj djsa%

1- tfLVl jatu xksxksbZ Hkkjr ds 46osa eq[;
U;k;k/kh'k gS-

2- og Hkkjr ds igys eq[; U;k;k/kh'k] tks
mÙkj&iwoZ {ks= ls gSa-

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

d½ dsoy 1 [k½ dsoy 2

x½ nksuksa ?k½ dksbZ ugha
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tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

v uq ns ”kv uq ns ”kv uq ns ”kv uq ns ”kv uq ns ”k

1 -1 -1 -1 -1 - ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysaijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysa
fd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slkfd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B vFkok iz”uka”k vkfn u gksA ;fn ,slk
gS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaAgS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaA

2 -2 -2 -2 -2 - —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd —i;k /;ku j[ks a fd OMR mÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.kmÙkj&i=d es a] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k
iqfLRkdk vuqØe iqfLRkdk vuqØe iqfLRkdk vuqØe iqfLRkdk vuqØe iqfLRkdk vuqØe A, B, C  ;k ;k ;k ;k ;k D dks] dks] dks] dks] dks] /;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj
dwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfrdwVc) djus dh ftEesnkjh mEEkhnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr
esa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkAesa mÙkj&i=d fujLr dj fn;k tk,xkA

3 -3 -3 -3 -3 - bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks’Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk
ij vkSj dqN u dqN u dqN u dqN u dqN u fy[ksaA

4 -4 -4 -4 -4 - bl ijh{k.k iqfLrdk esa 100100100100100 iz”uka”k ¼iz”u½ fn, x, gSaA izR;sd iz”uka”k fgUnh vkSj vaxzsth nksuksa esa Nik
gSA izR;sd iz”uka”k esa pkj izR;qÙkj ¼mÙkj½ fn, x, gSaA bueas ls ,d izR;qÙkj dks pqu ysa] ftls vki
mÙkj&i=d ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vf/kd izR;qÙkj lgh gS] rks
ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz”uka”k ds fy, dsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d gh izR;qÙkj
pquuk gSA

5 -5 -5 -5 -5 - vkidks vius lHkh izR;qÙkj vyx ls fn, x, mÙkj&i=d ij gh vafdr djus gSaA mÙkj&i=d esa esa fn,
x, funsZ”k ns[ksA

6 -6 -6 -6 -6 - lHkh iz”uka”kksa ds vad leku gSaA

7 -7 -7 -7 -7 - blls igys fd vki ijh{k.k iqfLrdk ds fofHkUUk iz”uka”kksa ds izR;qÙkj mÙkj&i=d ij vafdr djuk “kq:
djsa] vkidks izos”k izek.k&i= ds lkFk izsf’kr vuqns”kksa ds vuqlkj dqN fooj.k mÙkj&i=d esa nsus gSaA

8 -8 -8 -8 -8 - vki vius lHkh izR;qÙkjksa dks mÙkj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoydsoydsoydsoydsoy
mÙkj&i=dmÙkj&i=dmÙkj&i=dmÙkj&i=dmÙkj&i=d v/kh{kd dks lkSai nsaA vkidks vius lkFk ijh{k.k iqfLRkdk ys tkus dh vuqefr gSA

9 -9 -9 -9 -9 - ;fn dksbZ mEEkhnokj ,d ls vf/kd mÙkj nsrk gS] rks bls xyr mÙkjxyr mÙkjxyr mÙkjxyr mÙkjxyr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa
esa ls ,d mÙkj lgh gksrk gS] fQj Hkh ml iz”u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k
tk,xkA

A
“Lukmaan’s 400 Dreams” All India Test for CSE 2020

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysatc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

                 ijh{k.k iqfLrdk vuqØe                 ijh{k.k iqfLrdk vuqØe                 ijh{k.k iqfLrdk vuqØe                 ijh{k.k iqfLrdk vuqØe                 ijh{k.k iqfLrdk vuqØe

le; % nks ?k.Vs                                                    iw.kkZad % 200le; % nks ?k.Vs                                                    iw.kkZad % 200le; % nks ?k.Vs                                                    iw.kkZad % 200le; % nks ?k.Vs                                                    iw.kkZad % 200le; % nks ?k.Vs                                                    iw.kkZad % 200
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